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P6

Select the incorrect statement.
(1) Inbreedingincreases homozygosity.

(2) Inbreedingis essential to evolve purelines
in any animal. '

(3) Inbreeding selects harmful recessive genes
thatreduce fertility and productivity.

@ Inbreeding helpgin accumulation of superior

' senes and elimination of undesirable genes.

Which of the statements given below ig not true
about formation of Annual Rings in trees ?

(1) Annualringisa combination of spring wood
" and autumn wood produced in a year.

@  Differential activity of cambium causes light
‘and dark bands of tissue - early and late
wood respectively.

3) Activity of cambium depends upon variation
in climate. :

(4) Annualringsare not prominent in trees of
' temperate region. '

Under which of the following conditions will there
be no change in the reading frame of following
mRNA ?

5 AACAGCGGUGCUAUU 3
() Insertionof Gat 5th position
(2) Deletion of G from 5t position

3 Insertionof Aand Gat 4% and 5% positions
respectively

(4) Deletion of GGU from 7th gth gnd 9th
positions

The frequency of yecombination between gene pairs
on the same chromosome as a measure of the
distance between genes was explained by

() T.H.Morgan
(2)  Gregord. Mendel
(3)  Alfred Sturtevant

(@  Sutton Bover:

R a8F QIR
1) R g AIRE AFAe paees (Arader),
colErieInee@den @ aaim e}

@ 6a6Rled 1@ gisiea 99 AOIDEG QUED IR
2556 206y (J60IR RIGR) 920 Qi AR
aecia ciee aaae 2aees aafiaid !

@ afs aneie AIRE AETR UERRR, Q5S10Q
agalel Bageq I AfMIRe FAS! 97
agieq 99161 81d KRN |

@ ofq ardia aIee AdaQ raens agd 84
fline UGS 92 UFARIA! SaoEq QaIe
aeiEa ALY [6Q |

cge oifie epea GoR FAe Fqnee Ig 696

Q66 aba Q68 ? |

1) 6ot QF6a 62089 olfie ono A% 0@ 9e°
RS QR AYRR HAgél

@ e 2R aiaigaeia Qe Q2iasd
530 BICAIR 6 UG 9, AR 8 ced e

@ MRACS IINAG! SIGE ofieee 2080 FeQ
@6Q |

4) IBS60I8 ERER GI86A &) o/fe epugea
aSaic 9960 @ a1l .
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GOLAIGLNG .. QOR QIEIER OReeR 629 M2 7

5 AACAGCGGUGGUAUU 3

1) QEe Aeee G § 28RAe ate

@ a8 91eq G | AAARE] =Iatal

@ oogen 998 6 KBA 819g A NS G q 26Fae
RER!

@) Qg9 QA e 99f Yirg GGU ¢ 2adies
aoel

GOlIFN GI9E FRISR &A1 TR SUIOIR QasIRiIa @
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8.

Which of the following contraceptive methods do

1involve a role of hormone ?

(1)  Lactational amenorrhea, Pills, Emergency
contraceptives

(2)  Barrier method, Lactational amenorrhea,:

Pills

(3) CuT, Pills, Emergency contraceptives

4  Pills, Emergency contraceptives, Barrier
methods

Which of these following methods is the most
gsuitable for disposal of nuclear waste ?

() Shoot the waste into space
(2) Bury" the waste under Antarcticice-cover

(3)  Dump the waste within rocks under deep

(4)  Bury the waste within rocks deep below the
Earth’s surface

Which of the following glucose transporters is
insulin-dependent, ?

(1) GLUTI
@ GLUTII
3 GLUTII
4 GLUTIV

The ciliated epithelial cells are required to move
particles or mucus in a specific direction. In
humans, these cells are mainly present in :

(1)  Bile duct and Bronchioles

(2)  Fallopian tubes and Pancreatic duct
(3}  Eustachian tube and Salivary duct
(4)  Bronchioles and Fallopian tubes

Which one of the following statements regarding
post-fertilization development in flowering plants
ig incorrect ?

(1)  Ovary developsinto fruit

(2)  Zygote develops into embryo

(3)  Central cell develops into endosperm
(4  Ovules develop into embryo sac

Pé6
G609 6RQ GERcaNe U8B ca oiea Qfiel
aig :

(1) RIEQLASIN YILAEHIRA, 96, QARG
Fadealxe

(2) IR UFT, RIRECIMIN 2ICAERIRLI, ST
(3) @UQ-T, TR, FRARIFR IRFERINS
@  oFQl, FQAIRIFG JRREAINS, AU &GS

Gejea TAQINQ! 66 IRGF, FIN91N SeIege QIR
QEEeRITIN 4015, 2AYS

1) Qegq feRdg FeRa ehicee

@)  ANSTR 68 US AT YA VR Y]
6QIG6aR!

(3) SRR FRIAGAR QN UIDQ FUER QEER
coal

@ GUe1 gIe dNIQ 06R AR IR IR
NEYR TGS

F6RI9 6aR GeRIe gINdsaIdR & ARgf adse

GQeee ¢
(1) GLUTI
2 GLUTI
(3 GLUTIII
4 GLUTIV

QAR 4e° 648 (149Q) ] Y@ YoR GUeR onw
F6eQl diel AR YO SQAERIN AN 94 |
N26Q19 goe AgaY FII6R 6RRE UeFe -

1) (G@) S 891 99° gIaeee)
(2) GRRIRIER 9e° 2GIH0eRT
(3 QEUIAR GR1 9° AR
@) QULINR G° A AR

ORQe kg e A8f 9gae adiesn ceaae
AERQ JRULEIR 2991 AAN1e ¢2iF qaey
Q68 ?

O eEleag oea 98 99 |

@ 49 gee 8 99|

(B W49 cqI9q QusaIgR Q8 ¢9 |
@ Gae goeq Qesae 98 ¢4
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10.

11.

12,

13.

4.

15.

Which of the following factors is responsible for
the formation of concentrated urine ?

(1) Low levels of antidiuretic hormone.

(2) Maintaining hyperosmolarity towards inner
medullary interstitium in the kidneys.

(3) Secretion of erythropoietin by
Juxtaglomerular complex. -

(4) Hydrostatic pressure during glomerular
fltration.

It takes very long time for pineapple plants to
produce flowers. Which combination of hormones
can be applied to artificially induce flowering in
pineapple plants throughout the year to increase
yield ? |

(1) Auxinand Ethylene

(2)°  Gibberellin and Cytokinin
(3) ' Gibberellin and Abscisic acid
()  Cytokinin and Abscisic acid

Which of the following is a commercial blood
cholesterol lowering agent ?

(1)  Cyclogporin A

(2) Statin _
(8) Streptokinase
(4) Lipases

Which of the following immune responses is
responsible for rejection of kidney graft 7

(1)  Auto-immune response

(2) Humoral immune response

(3) Inflammatory immune response
(4)  Cell-mediated immune response

Extrusion of second polar body from egg nucleus
QCCULS ; ' '

(1)  after entry of sperm but before fertilization

(2)  after fertilization

{3)  before entry of sperm into ovum
(4  simultaneously with first cleavage

Which of the following muscular disorders is
inherited ?

(1) Tetany

(2) Muscular dystrophy
(8) Myasthemia gravis
(49 Botulism

10.

1L

12.

13.

14.

15.

Engiish+Odia
ALY 718 YIF UIR FEYIS 6oL FIeR QLM ?
1) 9 AIgla ZIcIngeade a6die |
@) QR AR €% FrgRIe Neddan e
29 7asAIRGE 298 ege L
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62 |
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3 LRYEASIN QYR RATRY .
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QIRI6Q ?
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16. ~ Xylem translocates 16.  SIRsA adeen 96q :
L Wai_:er only A 6599 §9
(2) Water and mineral salts only @  6e9p 0f 1e° MI0Q aod”
3 E;ie; nn;ﬁ;ral salts and some argamc @ 99, ¥IED 994 ¥9° caon 63 a5e
; USRI
'@~ Water, mineral salts, some organic nitrogen , saliee o
and hormones @ R, dIee avd, G2 ¢FQ QeRelR e
20615
17. How does steroid hormnne influence the cellular 5 . n
activities ? 17.  6RIFQ RINi6AG @ 63y, 260ie Fud gaide
(1) | Changmg the permeabﬂlty of the ce}l R |
" membrane. = . (1) .sm@&@ga QNG 68 VFRR FRIR |
2) Binding to DNA' and- forming a @ @.49.4. 980 YD 621N 19° 4@ @9 @eﬂm
gene- hormnne complex. '%ﬁﬁ Ql,ﬂﬁ?@ ,
3  Activating cyclic AMP located on the cell B sRFERIER Q! digQe 9.Nad. @ efe
membrane. e
R |
@ Ez;;‘egna;‘mpmn channels as second @ 2Qeaida, sI6eRg Fo1a wIdiene gea
¢ =  UeIQ R
18.  Insome plants, the female gamete deveiops mto 1 cacoe oot q Sol anigncs 98 of
embryn without fertilization. This phenomenon LI 69 _ %ﬁg Q_ g f]ﬂﬁi‘ﬁl . ¢ gel Q%
is known as : - 241 622 glag &'d QRIkrg 7
(1)  Autogamy D Qamae.
@  Parthenocarpy @ &l
(8) Syngamy @) qagage
4  Parthenogenesis @ agade ene
19. Whlf;jff therf:ii??“’mg ecological pyramids is | 19,  Grefge aug 6ed aeRcaIBRIR Gailie & QIREES
glene ymved N e Bne 26g ?
EZ; Pyrami : ﬂf num Iersm grasslan O adodeke wsile Seifia
Pyramid o energy S Sen '
) T | _ - 2) 98 deudie.
(3  Pyramid of biomass in a forest (? S S
(4)  Pyramid of biomass in a sea ) o ﬁ@‘
| (@) Qfaeea 6Fe 9gg daifie.
2. D d ‘Heroin’ is synthesized by : | ~ -
- rug called Heroin’ is eynthesized by 20.  6260I09° QUIRINES) @8 QIPIQIAI 26480 94 :
() methylation of morphine g =
1 vedes fincade
) stiatednenlin @ coden wdeiasaa
3  glycosylation of morphine ?Q ~ By
4@  nitration of morphine ©) 70090 RsRIREALR
@ 0908 AINEEAR,
21. -Which of the fo f s . Y
o e Dl pang organcles does o 21 56qis 6ol 6aie THR. BB, UGS SBLAN :
() Mitochondria and Lysosomes 1 ARSIl 99° RIRCAEHIAY
@  Chioroplast and Vacuoles 2 - CQYUAIYY 9 [RYRY
(3) Lysosomesand Vacuoles @ RUNRCAIERIF I9*° KUY @Y
@  Nuclear envelope and Mitochondria @ 8 2ead e ARsTIegal
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P6
22.

23.

25..

Consider following features:

() Organsystem level of organisation

()  Bilateral symmetry

(©  Truecoelomates with segmentation of body

Select the correct option of animal groups which
possess all the above characteristics.

(1)  Annelida, Arthropoda and Chordata
(2)  Annelida, Arthropoda and Mollusca
(3)  Arthropoda, Mollusca and Chordata
(4)  Annelida, Mollusca and Chordata

Select the correctly written scientific name of
Mango which was first described by
Carolus Linnaeus:

(1) Mangifera indica Car.Linn. -
(2)  Mangifera indica Linn.

(8  Mangiferaindica

(4) . Mangifera Indica

What is the fate of the male gametes discharged
in the synergid ?

(1)  One fuseswith the egg, other(s) degenerate(s)
in the synergid.

(2)  Allfuse with the egg.

(3)  One fuses with the egg, other(s) fuse(s) with
synergid nucleus. o

@)  One fuses with the egg and other fuses with

central cell nuclei.

Select the eorrect sequence of organs in the
alimentary canal of cockroach starting from
mouth :

(1) | Pharynx — QOesophagus — Crop —
Gizzard — Jleum — Colon —> Rectum

(2) Pharynx — Oesophagus > Gizzard —
Crop —> lleum — Colon — Rectum

(3) Pharynx — Oesophagus — Gizzard —
Ileum — Crop — Colon — Rectum

(4) Pharynx — Oesophagus — Ileum —
Crop — Gizzard — Colon — Rectum

22.

23.

24.

25.

Sl ;.

F6019 99969 F91a @F :

() TR 2R FR1Q ATOR (2AHIFINCTAR)

@& faig geainy

© 990696229 919 CRLNINEE §018 Qe
CRIQAS

[U6Q GYIKIGYRI AF1S AAE gEe gel gién gaq

651 QUPEQ VI8 :

(1) <BRGI, ZIREYISIG 1 QgIel

@ ﬂﬁ*&'ﬂ@i 2IREYI6DNG) 99 seliga
3)  2URELICALI, CAGHI & g6
@ Bhel, 6rIQRI I8 agieT

QeRIRe AFae & QeI edel AlAIRR) ZIRA
639159 Q0ead § OR aieea i@ B

(1) Mangiferaindica Car. Linn.

(2) Mangifem indicg Linn,

@  Mangiferaindica

(4) Mangifera Indica

g 99% 960 AR10e 6186 Gdle cenl gsa elelR

TSR @6 94 7

(1) 66l Gngle e | 246 (96R) aRiae
ERIFER 29SS 28R |

2 caﬂ'a. @AQee Aagiend |

()  6olIE GRage Ged, IS 1Ea ARING 61T
Qoo Fed |-

@) eoid Bn a6 Fed we* 0P 60I8R 6284
48 a@o Aed |

2QOAIR HIMRRIER 49! AErgBen OR 298¢, 6199

ZIQsl @6 |RIgsa eadl

1) €981 — gIAee — IRAIARI — a8
- 6ASRDIA > ERIERIR, — ARIKE

2 de81 - glaeel - edad
= ARNIFRl — 689428 — EQIERIN
— RS0

@) 9981 — QIR —» 6998 — 6639l
— GRUPFG —> EFERIR — ANEL -

@) 9991 —> FIReT — 6A8F@IY - dRURS
— TS —> ERIERIE. — ARG
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26,

21,

28.

29.

30.

Which of the following is true for Golden rice ?

() Ttis Vitamin A enriched, with a gene from
daffodil. '

2) It is pest resistant, with a geneﬁ;frﬂm
Bacillus thuringiensis.

(3) It is drought tolerant, developed using

Agrobacterium vector. -

‘@) It has yellow graing, because of a gene

mtroduced from a primitive variety of rice.

Respiratory Quotient (RQ) value of tripalmitin is
1 09

2 07
3 007
@ - 0.09

Which of the following statements is correct ?

(1) Cornea is an external, transparent. and
protective proteinacious covering of the

eye-ball.

(2)  Cornea consists of dense connective tissue
of elastin and can repair itself.

(3)  Corneais convex, transparent layer which
is highly vascularised.

(4)  Cornea consists of dense matrix of collagen
and 18 the most sensitive portion of the eye.

Which of the following statements is not correct ?
(1) Lysosomes have numerous hydrolytic
enzymes.

{2 The hydrolytic enzymes of lysosomes are

active under acidic pH..

(3} .Lysosomes are membrane bound structures.

4) Lysosomes are formed by the process of
packaging in the endoplasmic reticulum.

Match the following genes of the Lac opéron with’

their respective products :

(a) igene- @©.  B-galactosidase
(b) zgene (1) Permease

(c¢ agene (i) Repressor

() ygene (iv) Transacetylase
Select the correct option.

@ B © @
M O @ @ G
@ @ 0 @

@ @ 0 W 6

@ @ & O @

1 26.

21.

28..

29.

30.

P6

FORge rIG 6Red COINEeR. dIF TIR g ¢

(1) QUETIENG 660N Bx, 98e 2l f1fir A &a
gdgd ara 1

@ UGG ghinewrsedq § N8 59gde ol 19
gosaldt 26¢ | |

@)  EGPIPCERAR AP QLA &8 @I (g
QIS glee |

@  g9IoR K188 GG 691 Feq affe ebel
AAEIQ VDR A 2R ERANEN |

SIRAIRFCHRA §a° A4 AUITRR ey 628

IO 09
@ 07
@ 007
@ 009

PeLe 699 28 ade :

(1) <4RJICP 6288 Y@ <19, g8 99° agieln]
JHAIOYS OFYERIRIR LIS |

@) 9e9eRea aRIde @ QI eI §g g
IQ° N2l FERRER FRINE cRIRAIEH |

B  QRUCR SHITN ReR, 98 99 69R0IG B BeuNe
QAYNL ELIRAN

@  JRICR 68 CRINIETR A S ARIA &I I
YR AF0IG 641 QIR Alg |-

RORde LSAINE g 6990 A0R Q6 ?

() RINEAUSKIFIYER 6860¢61 andicqdo Gaee
el |

@) NREAERIAR A andegSe Jiee gEe
eclel pH 60 [AIGIR 2N |

B AR ALY EQY YAl UG |

@) <69IefR COEYRE @ AICHE® I8d Qe
caslee Q8 gud |

Q6R FUAIRYS! MR, UCTRR @ FQ E] sadles
GeRe0 aQIer U9B6 6AF QIR :

(@) iow @  B-OIRIRELITcen
® z&a @ oefve

© afe (i) Q6YAR

@ yoe @)  gleuudtsne
abe eaa Qg ;

o @ () © @@
®» O @) @ G
@ @ O W
@ a @ G @
@ @ G @O @
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-31.

32.

38.

34.

35.

English+Odia | _

Select the correct option. 31. 0) a8 QI :

1)  8th, oth and 10tk pairs of ribs articulate 1) 28, 90 99° Q¢ JEIRe 99 QsaId
dizeefly-with the sterdui. a@e duiaRs ABYS caINAN |

@) i]i:‘ gﬁﬁiﬁf&“iﬁsif;‘;‘;n}?;ﬁr‘:g @ 2062098 QI IAeE 1G° 08 BRI
cartilage, R, 60IE AR YD SRINAN |

3  Eachrib is a flat thin bone and all the ribs @ 96e1e aBaIAe €aled So0R), GoRl I8
are connected dorsally to the thoracic 4Q° dAg JGLIe dOUeEs 9R6g9d Q¢
vertebrae and ventrally to the sternum. (cqidq 988) 6 cUsaser QsAId dde

(4 There are seven pairs of vertebrosternal, QPELIs sRinelld |
%ﬁjﬁ;ﬁgﬁbﬂhﬂm and twopairs @ Qesae afeamania, 67 a6 056aaeR

Y6° QR 621G REQIR ITNVIC AN |

Which one of the following is not a method of | 32. &9RAe CRIG 6960 63 GRS @ ¢-TRFT B 9@

in situ conservation of biodiversity ? deIRT R6F ?

()  Biosphere Reserve ) o0 R0ee

@  Wildiife Sanctuary @) oMSIS ZKIAQY

(3) Botanical Garden () 269 e

(4  Sacred Grove @ gade oiR

Select the incnrreét statement. 3. GR 296 212

(1) :P;Iale fruit fly is heterogametic. (1) 23Ql GO 6e08 AN |

(2 Inmale grasshoppers, 50% of sperms have @ aiﬁt dqalea, 50% gRlIgen AEa ga9g
no sex-chromosome. %,

3 In domesticated fowls, sex of progeny (3) G@f{ll@@ RARICR, ATUIAINER RE FRIG
depends on the type of sperm rather than 2A60E! GRIY NIFEA YR RACK HUR 66
;gg' i & . @ 230l Ageie Geta ga9e AIRE TG, 6aIE

B evchrmosome cradh shteter tha the B0 260K 990 AR SN,

o _F‘thef - | 34.  gne A6 SR, SR QIR AQEY ARgRA
Which of the following features of genetic code does 926 F8QI AR IRETHUY 6RERER ca1an (R
sllow beclrts bo e Buman eulin Y| crcepa) ey o eaed o O
{1y Genetic code is not ambiguous (3 G%QE!Q 6@Ie sYEie! 982
(2)  Geneticcode is redundant @ 6969?“6{ 6RIG BRIQNG f:lsfa'
AR o — ®) GE'G&?SE{ 6RIQ Jiget APRRIe 26s
(@)  Genetic code is specific (9 6F6RCR 6QI9 o9 A

_ 85. = 9% MOGUR AKGYS 5 L, QINEIIRG 6896Q A
E;‘;;ifpi?;&hﬁ i?ﬁﬂi;:; f;;i‘;‘;ij‘ez Ri6a Q90 BAI 100 mL <@ Feoe GaETA
at the end of diastole is 100 mL and at the end of €a3ER Q3R Aaflid 50 mL 94 668% 64 PG
ventricular systole is 50 mL ? 20T @ 1igl 616 629 7.
() 50 beats per minute (D) ge fdc ea 50 ¢ gea
@  75beats per minute @ 96 §ac ea 758 2R
(3)  100beats per minute (3) 9t &Fe 6o 100 & 999
(4 125 beats per minute @ g6 ffc eq 125 § 209
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36. Match the following organisms with their 36, Sghde gieIifliee 6adiee Feban ad 980 6ae
respective characteristics : Qalg -
@  Pia @ Flamecells @ 6oy 6 69 saIg
by Bombyx i Combplates b conde @) G?ﬁ"&‘ 6ae 560
(¢  Pleurobrachia () Radula - ¢
@ Tueni v) Malpighi {c) LU (i) eueml
aenia iv pighian e _ & &
' Gubiiles 551) 55:@* (v) CIRdhR et
Select the correct option from the following : o aﬁff G’I(i; © @
. a Iy i
@ M 6 9 ® @ @ 6 G
L @ @ @ G @ G v @ 6
@ G G G @ (3 ﬁ'l) (i‘jf) (1) ({3‘
@ @ v @ @ @ @) @ @
@ @ @ @ @ 37. Q9 6R9 RI09Q FIRIRIeR QA ceelae qf
29, gi9l 2Ya & gew QIal 92186 colpda
87. Variations caused by mutation, as proposed by D u@eafie 9o Safdige
Hugo de Vries, are @ 25afe v Goddiae Soip
(1) random and directional ©® 99 @ auddiae
(2) random and directionless @ 59 e deddiag Sere
(3 small and directional n ' N .
@ emalilund Gissetisless | 38 caiSazicasnen SIReR GaYA 0 Rqient G
wmifl Qelxerl 500 mL 99° 1000 mL @ 6RO dm
38.  Tidal Volume and Expiratory Reserve Volume of 2RYA 1200 mL 249 6661 2I6a 19H6assIa] @1aae
an athlete is 500 mL and 1000 mL respectively. 6060 €20 ?
What will be his Expiratory Capacity if the ;
Residual Volume is 1200 mL ? 8.; ' i?gg mi
{9 @l
2  1700mL 4 2700 mL
©)  2200mL 39. @966 Galee Feal 16IRRER ATagEe oda)
@ 200w, FRUGE | CAIGE FrIG QR 235 §9¢ a
39.  Following statements describe the characteristics ) SA9Q & 6qIEI DNA F1i6a 491 5§06 2°a6
of the enzyme Restriction Fn&nnucleaae Identlfy DNA 2qq 62890 @6a |
:};e mfp‘:’reﬂf Stateme]‘;; 1 g @ 3U99F ceIEN DNA q 398 algsa @
1 e enzyme cuts DNA molecule at identified N
position within the DNA. Q6% 19 Rl 4@ FrRIg 6o 601t 6899
(@)  The enzyme binde DNA at specific sites and o | e P e
cuts only one of the two strands. (3) deoia 9ea 64815 H0d Aigen Saleat agal
3)  The enzyme cuts the sugar-phosphate TAETTR QAP AR 63T REQ |
backbone at specific sites on each strand. (4 DNA sa 9o &ae diRegifia fagsvinen
40 The enzyme recogni'ies a specific 2eRAg FUIoR 996 F6Q |
palindromic nucleotide sequencein the DNA., o R N N o
40. FIRYE g @9, 6QIcha § 98 ear; Fud
40.  What triggers activation of protoxin to active Bt Gﬁlm@m SQ del evand ,QIQE%Q@QQ Bt €399
toxin of Bacillus thuringiensisin boll worm ? Ugo @eld ?
(I)  Bodytemperature (1) €99e oI
2)  Moist surface of midgut @ fiede @ U9 aaee
@)  Alkaline pH of gut 8) 9% a g pH
4  Acidic pH of stomach @ UKL & A pH

9
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41.

42..

43.

44,

45.

Identify the cells whose gecretionprotects the lining
of gastro-intestinal tract from various enzymes.
(1) Chief Cells

(2  Goblet Cells

(8)  Oxyntic Cells

4)  Duodenal Cells

Pinus seed cannot germinate and establish
without fungal association. This is because :

(1)  itsembryoisimmature.

(2) it has obligate association with mycorrhizae.

3) ithasveryhavd seed coat. .

4 11:3 seeds contain inhibitors that prevent
germination. '

Which part of the brain is responsible for

thermoregulation ?

(1) Cerebrum

(2) Hy_pothalam'us

3  Corpus callosum

@)  Medulla oblongata

In a species, the weight of newborn ranges from
2 to 5 kg, 97% of the newborn with an average
weight between 3 to 3.3 kg survive whereas 99%
of the infants born with weights from 2 to 2.5 kg
or 4.5.to b kg die. Which type of selection process
is taking place ? '

{1)  Directional Selection

(2) Stabilizing Selection
(3)  Disruptive Selection
4  Cyclical Selection

Use of an artificial kidney during hemodialysis
may result in :

(@) Nitrogenous waste build-up in the body
()  Non-elimination of excess potassium ions

(© Reduced absorption of calcium ions from
gastro-intestinal tract

({d Reduced RBC production

Which of the following options is the most
appropriate ?

(1) (a)and (b) are correct
{2) (b)and (c) are correct
@ © and (d) are correct
4y  (a) and (d) are correct

10

41.

- P - < T ; — i
FEIIe 609 sQIFQ D190 99l GIEARRSSATRIN
FIRE & LeAIRIGRg 926 geee Saiee gée 01g

QFl F6Q :

(1) O 6ad goa

(2 oERE QI e

(3) 2FR0Q ¢aig 9fe

@  gedal fRrIEE USl 6RIT Ged

42,

43,

44,

45,

diged 98 @e9 d8e are Bl aghe 62180I6a

QF, ¥2IQ ARG @& ? -

(1) 4216 96 uadag

@) 2R AIRERININEI AR0 QRISIKNG. A

(8) 42Ia AGR RIG@IS g9 €68

@) <9Q f86Q 6U8 SRR AN FI2t &Y
AGRC 6221 GHERNR FER

SIaGaad Qe A396 674 2°6F QI :
1) easaarn (gade)

©@ QIRNCUBQUNY

Q) g ASST

@ R enaas (gggl ade)

6518N RIBER FORIS TGRS BR7 9RY 1T 68.5.
CRIER D41 97% QeRIe 84, 3 60.5. § 3.3 6R.5.
Q 99 2R 6ee i, FEARE 606Rss @
99% 34 2 69.5. § 2.5 6a.8. B 4.5 6a.5. §
560.8. Q 807 IR 9F 62Ia F10Y 908 08| a9
JFIa QINEe ARRd QOIER 6268 7

(1) &eoRATIR RALRE

2 R ERE

(3) SUUfe a9ead

@) QRPN LA

62671PIRAREY F196Q TAIRER S8aa Lle QIR

@6 956B sRRTER : |

@ d0a frIsA FIRssIcerdq IRieg 9balde

G 249 sae1daf 2IgR QIR CRIRRTIRSI

© gIcR-9a6eadain d2q IRIL AR
ZR6HITG60 LlAATe :

@ RBC qQioeea 214 aFe

Of eggs a9t QUL :

1) (a) 9o (b) 6298 OR
@  (b) 9e (o) 6208 OR
@) (o) 99 (d) 6208 OQ
@ (a) 9 (d) 6998 OR
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46,

47.

49.

@

1Plaoentatmn in which ovules develop on the inner

wa]l of the ovary or in peripheral part, is :

(1) ° Basal

2) Axile

(8)  Parietal

4  Free central_-.

Congsider the following statements :

{A) Coenzyme or metal ion that is tlghtly bound
to enzyme protein is called prosthetic group.
(B) A complete catalytic active enzyme with its
e bound prosthetic group is called apoenzyme.
Select the correct option..
(1) - Both {A) and (B) are true.
2  (A)is true but (B) 1s false.
(3)  Both (A) and (B) are false.
@  (A)1s false but (B) is true.
Match the Column -1 with Column -II :
Column -1 Column - I1
(@) P-wave ') Depolarisation of
ventricles
® QRS complex ()  Repolarisation of
ventricles
© T-wave (1) Coronary
ischemia
(d} Reductioninthe (v} Depolarisation of
size of T - wave atria
(v)  Repolarisation of
-atria
Select the correct option.
(@ () © (@
m » O G G
@ W O W O
@ @ & & /G
G @ & @

Which of the following protocols did aim for

reducing emission of chlorofluorocarbons into the

atmosphere ?

(1) Montreal Protocol

@  Kyoto Protocol |
(3)  Gothenburg Protocol
(40  Geneva Protocol

11

46.

47,

49,

Pé

60% F/6268QAFER JRIFNR Goa Q8 e @l
QY daicen Bnegde gade seinalaId ¢

1) QAR
2) NQLIAR
(3 HERRSIR
@ g eeR

FEFle ABYEe Gl 98 :

(4) SUIer 98dIa 986 QRINER DB (2B
de-GAOR 1e° EFICIR ?nm ® sgIgsadR
ga QM geladi

= egiqee@a: g Qo 9eIs2IRARI, 99
qdaiesn @aIRe adialgael qgﬂ@ﬂlg@ Q@
UISANAFING 6QIF GRICIN |

Oq 2a0 I8

(B)

() 292 (A) 9e° (B) Qo4 288
©@ (A) 9ov u6e @e (B) Felyl Zige
(8) Q8L (A) 9e° (B) daul m'a

@  (A) flev 266 §g (B) 91@'4 £16e

ad -1 g 9d - I1 Qle &7 2R :

aa -1 ga - 11
(@ P-oqsr @ e §Yed
® QRS @619 @ P09 ge-yee
© T-o0d (i) QEQNN AQeeel
@ T-006 UNABR (v) AR 6§ QYRS

21 AfQ

v) JFwe gR-yes

0f 299 I8 .

@& b © @
®» ™ O @ @
@ v & & @
@ W 6§ @ d
@ w @ & W

ferlie 6ne ABQ QRN G‘i%ﬂﬂ@ 2010 SQJEQIQLSQI
Al Jewdlag QIQ]GJG}G’I adiq @fa ?

) efiegan i RIS
@)  6QI6¢1 ABQ ARISH

(3) calslReen A8q ARIeR!
@) cm6qa AR ARG
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o,

ol.

52.

23.

54.

55,

Polyblend, a fine powder of recycled modified
plastic, has proved to be a geod material for :

(1) making plastic sacks
(2) useasafertilizer

(3) bbﬁstmchnh of roads

4 malﬁng tubes and pipes

Which of the féllt}'ﬁ"jﬁg can be used as a biocontrol
agent in the treatment of plant disease ?

(1)  Trichoderma
(2} Chlorella
3)  Anabaenc
4  Lactobacillus

Which of the following sexualiy transmitted
diseases is not completely curable ?

(I)  Gonorrhoea

(2)  Genital warts
3)  Genital herpes
(4) Chlamydiasis

Thicbacillus is .a group of bacteria helpful in
carrying out :

(1)  Nitrogen fixation

@) Chem'o_autotmphic fixation
(9  Nitrification

(40  Denitrification

Colostrum, the yvellowish fluid, secreted by mother
during the initial days of lactation is very essential
to impart immunity to the newborn infants because
it contains

(1)  Natural killer cells

(2)  Monocytes

@) Macrophages

4) Immunoglobulin A

The Earth Summit held in Rio de Janeiro in 1992
was called ;

(1) to reduce CO, emissions and globall

warming.

(& for conservation of biodiversity and__

sustainable utilization of its benefits.

3 to assess threat posed to native species by
mvasive weed species.

4y  for immediate steps to discontinue use of
CFCs that were damaging the ozone layer.

50.

51.

52.

53.

54

ad.

afiefe QENQ RIMNEDIR TR, N9 SRE QY

AReqe fen o9l SOAQ0 cRad dIf W88 aiR

geidie seiaamt ;

B Qi8R 29 BUREe

@ dIe QUeR MNIRAQ FQUAN |
(3 @lIgl FUGER MNeYR §9 |

@ 94eq 8 an BAGER ISR Y. I

QEQ caIge 5691 aIR FaRge 608 659 ghsale
Q0] AL AL ?
(1) 56N

(% EPERR)

Q)  Erienet
@  @egeudng

S-G9 QIR ABRG 620YS! G‘Gﬂ!@ ssaa SRUGIE
agld Qea ZlieRisy cIRAIER RIF :

(1)  eeIeRIG

2 cFPeIm aled

(8 6FGoIn 2add

@ rIetadq

6T NG AIRIGR OF N2 VNS ALIIRIEN :
(1) QORIAPF TR

@)  6REFIZETITTR GORR

@) ENIeRIRNRS

(@) UUSNORIRNNRE!

Qolged @ gigfie Ao diewen ¢l OIf AN
SRIERIGE| 6208 Q@ 2RGYI R gid, QIRIE 56
dge sald gecalue a8 QE R 989
QUELCT ! RIFRICR 274 YD PSR L [ELIN
6RIRAIN :

(1) gIRee T, 6aIF

(2 9eRANY

@)  CeRNETEFY

4 QEERIcISYRR A

Q8 © wIseacalca 1992 Advica ¥4 Adnei ¢

qieY eRIRERI ?

D S¢ egee 8 CO, 90dq SRSl AR |

(@) 6oe FENOI & QRTE IS YR QURIN IR

L NO0IR SeUQISaR aIst gaIeT 1

(3) @42 @Ifa AWITe 9Fel I IRL
FEYeR YRS AR AL RER! |

@) 66RIce 90Q 86 @A CFCQ UQRIag
SRICIE AR FERIAIN TG0 §R9l |
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56.

57.

58.

59.

Match Column - I with Column - I1.
Column -1 Column - IT
(@ Saprophyte ()  Symbiotic association of
: fungi with plant roots
() Parasite (i1) DEeompegiti(m of dead
organic materials
(¢ Lichens @i) Living on living plants
oranimals:- . .
{d Mycorrhiza (iv) Symbioticassociation of
algae and fungi
Choose the correct answer from the options given
below :
(@ () (© &
®» 6O @ §@ G
® G @ O G
® @ O @ G
4 W @ @& @ .- -
Purines found both in DNA and RNA are :
(1} . ,A_den.ine:l and thymine
@ = Adenine and guanine
(3) Guan:hle_ and cytosine
(4)  Cytosine and thymine
What is the direction of movement of sugars in
phloem ?
(1)) Non-multidirectional
(2) * - Upward |
) Downward
(4)  Bi-directional
The correct sequence of phases of cell cycle is :
B M->G—->G;,—>8
2 G >G-S5 ->M
B S—=>G ->6G,-oM .
@ G,->8-5G->M
Select. the hormone-releasing Intra-Uterine

Devices.

(1)  Vaults, LNG-20

2)  Multiload 375, Progestasert
(_3) Progestasert, LNG-20

4  Lippes Loop, Multiload 375

13

56.

| 87

58.

59.

(@)

®)

(©

@

P6
9a -1q 9a -II 6 12

aa -1 gd .11

RS @) 990 286 afen rgees
Qesder

aae1d () ¢ocRde aUeieg A0
Gt

gegat () @9e et 29 gaies
QCIee Q19 @Rl

ARERIURF  (v) AR Y FORG
ERIRG!

dge Suiaegel 9q8 gfe auq ade aead
@ Qd: .

(@ ®). @© @
O @ G @ G
@ @ @ O G
@ G O G G
@ @ G @ 6

QERG @98 DNA 9e° RNA 66 69N :

(1} 2eeniag 9 gieZifia
@) UERINR I° GRINIRR,
@ YURAR 9e° YRSV

@ ARECIANR, 99° ARNAFR.

EINAER 66 §RAS GRIe GO @4 ?

1) o9 ode ae
2 egqe
@  ages
@ §-98a

6RIT ORER g AeAIgPan Bgand cead

D M->G —=>G,—S
@ G;=3G->8-5M
@ B—-G-5G->M
4@ G,98-5G,->M

26712 906 TAQYAR ARLIYSERNR DaD QIF

(1) eneg, LNG-20

2 RGeRIR 375, 6gICEIIAs
@ 69I8RIRIAC, LNG-20

@ @6aq Qg FRGERIS, 375
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61.

62.

63.

(2)

A gene locus has two alleles A, a. If the frequency
of dominant allele A is 0.4, then what will be the

frequency of homozygous dominant, heterozygous

and homozygous recessive individuals in the
population ?

(1)  0.36 (AA); 0.48 (Aa); 0.16 (aa)
10.16 (AA); 0.24 (Aa); 0.36 (as)
“0.16 (AA); 0.48 (Aa); 0.86 (aa)

0.16 (AA); 0.36 (Aa); 0.48 (aa)

(3)
4
Conversion of glucose to glucose-6- phnsphate the

first irreversible reaction of glycolysis, is catalyzed
by :

1)  Aldolase

@  Hexokinase

3) Enolase

(4)  Phosphofructokinase

The shorter and longer arms of a submetacentric
chromosome are referred toas:

1)

s-arm and l-arm respectively.

(2) p-arm and g-arm respectively
(3} g-armandp-arm réspectively
(4) m-arm and n-arm respectively

Which of the following is the most important cause
for animals and planis being driven to

extinction ?

(I)  Habitat loss and fragmentation
(2)  Drought and floods

(3) Economicexploitation

(4) Alien spé'cies invasi_on

DNA precipitation out of a mixture of biomolecules
can be achieved by treatment with :

(1)  Isopropanol

(2)  Chilled ethanol

(8) Methanol at mﬁm temperature
(4@  Chilled chloroform

14

61,

62

64.

85.

EngehOda]
oI B9 6RIee @ 90f Yedee! A, a 888 49
gaIe1 gy §981 A Q 9RAIQEQ 218 0.4 g*a 6PER
gam COIEFIPIAGY, CRECERINNG NG° AYQIRT
CLUCFINIRGIY, 948 AIFES 63T 651866 YRAIGES
QIR 6560 699 7

0.36 (AA); 0. 48 (Aa) 0. 16 (aa)"

@)

@ 0.16 (AA); 0.24 (Aa); 0.36 (aa)

(3)  0.16(AA); 0.48 (Aa); 0.36 (aa)
@ 0.16(AA4); 0.36 (Aa); 0.48 (a)

-GERIDY YERIR-6-TATS § GLISR 6291 GIRSRIRAY

O80Q g2 ATRRENE JORAI, 12l ALl QIR QA6
2

1) 2URELIERS

2 CRRCAIRINERS
@  NERIERS

@) T6RATEQINCRS

CHIEN G2 6ATIEIER GOIYER §8I6 1S° 96 QIR ]

6RE Q60 QEILIRAI :

1) QEIRER - e° 1-9Ig
@  QIKEE p-NY 9S° g-DiQ
@ QOUIREA -2 9S° p-QIY
@) QUL m-9I 99° n-QIY

GORYS Mg 698 YR FIASgEe QAR gidn 8
LRRAIEE FRde CRINAIRRT -

Q) ohgien 88 99 g¢ Gude caql
2 g% 9o oayl

@ 2R 68194

@

RR S8 2IRAE

602 aga fgaq FoRge cRuDq genisasn DNA
o ZRIINON eim IGe ?

1)  AREACYITIAN

(2) One KL

3 Q8 ARITEa FaIen
@ Sae sqeaTid
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67.

68.

69.

70.

In Antirrhinum (Snapdragon), a red flower was

and pink flowers.. ChGCISE the incorrect statement
from the following :

(1)  Thisexperiment does not follow the Principle
of Dommanee

2) Pink colour in F, is due to incomplete
dominance.

. 1 2 1
3) RatiocofF,is Z (Red): 7 (Pink) : 7 {(White)

() Law of Segregation does not apply in this
.. experiment.

The concept of “Omnis cellula-e cellularegarding
cell division was first proposed by :

(1)  Rudolf Virchow

(2) Theodore Schwann
(3  Schleiden

(4)  Aristotle

Expressed Sequence Tags (ESTs) refers to:
(1) Genesexpressed as RNA

(20  Polypeptide expression

(3) DNA polymorphism

(49)  Novel DNA sequences

Match the following hormones with the respective
disease :

(@ Insulin i) Addison’s disease
() Thyroxin (i)  Diabetesinsipidus
(@)  Corticoids (i) Acromegaly

(d) GrowthHormone (iv) Goitre

(v)  Diabetes mellitus
Select the correct option.

(@ ) © @
“ @ O @
@ @ v @) o
@  w O G
@ @ G @ @)

Phloem in gymnosperms lacks :

(1) Albuminous ceﬂs and sieve cells
(2) Sieve tubes only’

3) Companion cells only

(4  Both sieve tubes and companion cells

crossed with a white flower and in F, generation,-
pink flowers were obtained. When plnk flowers
. were selfed, the F, generation showed white, red

16
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P6

gidaierea (YOQIEe) 98 601N EFEFERYRER
AR TRG AN IR ATE Q6T KRN 6062 F 60
colnud R QE6e9 | 6960 SR5R 698 IRIT YR
Q6 0 Feafe A6l RQIAIY, 6669 F,
CRERERARER AR, AR 6 cOIRT g I/ 689 |
qsc9 adgeq ab qadg e

1) @ aeIsid gRIe! gd f15] QeI AR |

©@ Fand g99I91 g4l f1edg F, 6o alaid g

eQallLirg 1.

o 2 .1
@) F, « zgaed 4(_9;1“;51) Py (ea1m1d) : 3

(a9
@) 2 9QINEe JAMKRS F16g g6 eI
QP |
6N QRUPR QARG “GhPq cagri-n sagRl”
RGNS GASE QIRIQIR YIITG 6RUR +
1) Qe deesl

2 8eq I,
(3) €Y.
@ dieeeR

eHieg (ESTs) @ 2gara gald, Somde 9Ieig gend :
(1) &a% RNA 2191068 99186 99

2 aReIUeIRG @ aGigeld

(8) DNAORKaQIE -

@ {69 DNA @ 2ged gee

fecls acnie goq cafies Gede cale QBesAR
QUK :

@ SAYRA O  9E9wq salel
b AR () 299e e
© @aFeeeq i) 2RISR
d cgla eeqie v} Q°9g

&) FIEeR cauel

ade aaa Qe :

@ b © @
O @ 0 @
@ W @ @ @
®» & m @ @
@ W @) @ G

FOERIR 6ELNMAGH 6RRER BRIS 2N :
() AR9fad 6aaq ¥e© da sanq
(2 caor ag da 4o .

(3) 6% FIg FAIBAS 6UIRY

@ 90 3 949 ¥e° aHdue AR
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71.

72

73.

74.

5.

From evolutionary point of view, retention of the
female gametophyte with developing young embryo
on the parent sporophyte for some time, is first
observed in:

(1) ' Liverworts

(&) Mosses

3) Ptéridophytes
4. -Gymnosperms

Which one of the following equipments is
essentially required for growing microbes on a
large seale, for industrial production of enzymes ?

(1) BOD incubator
2)  Sludge digester
(3  Industrial oven
(4)  Bioreactor

Grass leaves curl inwdrds during very dry
weather. Select the most appropriate reason from
the following :

() Closure of stomata

2  Flaccidity of bulliform cells

(3  Shrinkage of air spaces in spongy mesophyll
(4)  Tylosesin vessels

Which of the following statements is incorrect ?

(1)  Viroids lack a protein coat.
2

6

Viruses are obligate parasites.

Infective constituent in viruses is the protein
coat. :

(490  Prions consist of abnormally folded proteins.

Which of the following statements is incorrect ?
(1)  Morels and truffles are edible delicacies.
(2)

Claviceps is a source of many alkaloids and

LSD.

(8) Conidia are produced exogenously and
ascospores endogenously.

@  Yeasts have filamentous bodies with long

thread-like hyphae.

16
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38 QRLAIR 9RR CLUCRITING 2UER A I

HISFIESITING ARG 6Qd 96 QTN VIR YasH
CRRZER SQUIARR :

1 [eegeq
(2 69
@) oGNS

@ 69199 (egder)

QUIGRG OIS QYR TIR 9go AR LgFTe

QF 2RRIca FIRYE 6w LAUET FoRIQ T6E
(I) @68 (BOD) eRIEITR

@ 9f Qnssan

(3 eaduin Bsee

@ AQEEISR

AI089ee 2608 gun Titea §oa Cleq &aIE
SRIRAIAUIB T FORYS F1IG 699 91RE AR UBA6E
qoiel -

() 626 99 689

2  eRhod easg@an ageel

@) 98 CAKITNER YIRS LERISR
@ 6OdR EF6a FIRERICAY B!

FARGE crig 606 GBT A0R Q6P ?
1) &§0oe 69158 BIend Go1e 2N |

@) Q9l¢ QG BRRNEAS AR 2UECE |

@) 0145089 A°gHe UIRIRgER 6268 6gITae
290€ |

@ 999 0P FARIGS YA QT ARSI

laieg eaa 909 621R2IN |

PORYe QEAIRT (kg cRRd QR Z6e ?
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76,

71.

78.

75

80,

Select the correct group of biocontrol agents.

(1)  Bacillus thuringiensis, Tobacco mosaic
virus, Aphids

@) Trichoderma, Baculovirus,
Bacillus thuringiensis

(3)  Oscillatoria, Rhizobtum, Trichoderma

(4)  Nostoc, Azospirillium,
Nucleopolyhedrovirus

Which of i:he following pairs of gases is mainly
responsible for green house effect ?

(1)  Ozone and Ammonia
(@) -Oxygen and Nitrogen

(@  Nitrogen and Sulphur dioxide

4y  Carbon dioxide and Methane

What is the genetic disorder in which an individual
has an overall masculine development,
gynaecomastia, and is sterile ?

(1) Turner’ssyndrome

(2)  Klinefelter's syndrome
(%) Edwardsyndrome

{4y Down's syndrome

Due to increasing air-borne allergens and
pollutants, many people in urban areas are
suffering from respiratory disorder causing
wheezing due to:

()  benign growth on mucous lining of nasal
cavity.
2) inflammation of bronchi and bronchioles.

(8) proliferation of fibrous tissues and damage
of the alveolar walls.

(4  reduction in the secretion of surfactants by
paeumoecytes.

Match the following organisms with the products
they produce :

(ay Laciobacillus @) Cheese

b))  Saccharomyces @y Curd -
cerevisiae

()  Aspergillusniger @(il) Citric Acid

{d}  Acetobacter aceti (av) Bread

)  AceticAcid

Select the correct option.

@ ® © o
GO @ @ v )
@ @ - v @
® @ ™ ® @
@w @ O w O

17
78.

77.

78.

79.

80,

P6
6800084 Fgael 90 géea 04 aaald I19 -
(1) dRq goeevedq, 60191681 6FIRIQR,
RAUNRG, TG
(@) SRR, PIPERIRAINAG IR
o8 9ndq
B)  IGRICCIGIE, OIRCHIFER, IRCRICa
@) 949K, HEHIEERAn, PIGEIRCECRINNNG

Q9P SRI0NT FAIR QiR FIRYE el SIAQH FENes
Qi ? |

(1) GeIa 99 AR

@), RN Ne° LeSIeRIR

@) PINORNA 9° ANTE, FIATRANR

@) QIEe PRNAIRe 18 far

caal @6¢ RIAR AERIAF AIIRAINS Qaet,
IReReal FHEZl NG* SER AVE 29, 6069 PR
Zige-de Berd @'¢ .

(1) conow Jediel

@) Qesoaces degic]

B ek degie

@ elees degiel

QE0 620 YPFO RGN TN 8 YQEE

RIS Q1Y ALQUERER LS 6RIF FIALRE

QIBarce BIRIe 2N YGde Ao Sq!99qQ

ERANR IR :

(1) RAVLR 6§88 BILS AUCR AR ERANFLUR!
Q&

@ SRR 8 FLRIMNIQ galRt

@ aieed §ga e 9F 19 Qragrd
ERICARIG 6QITRE 2% cRindal

@ FEAINNSY QA YBTIREIY, AINRR FI0S
g@acien 1 68911

S060 QTR GIAINT, SAFNER QER KU
QCOT QDO EOIR QAR 1 -

@  REPRAR]. B ead

b))  URIERIINEAY 69606d () @F

© aiqoeend fmes - @) JeER Ae
&  asasereipe asad  Gv) IRl

()  96QTQ gy
a0k 20 Rd :

@ b © O
O @ v @
2 G v @) O
@ @ G O 0
@ @ o @ O
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Pé
81.

82,

83.

Match the following structures with their
respective locationin organs :

(@  CryptsofLieberkithn @)  Pancreas.
()  Glisson’s Capsule (i)  Duodenum
(c)  Islets of Langerhans () Small

intestine
{d) Brunner’s Glands Gv) Liver

Select the correct option from the following :

@& (B © @@
O @) @ G G
@ G v @ 3
3 @ @ § G
@ @ @G o @)

What map unit (Centimorgan) is adopted in the
construction of genetic maps ?

() A unit of distance between two expressed
genes, representing 10% cross over,

(2) A unit of distance between two expressed
genes, representing 100% cross over. .

(8 A unit of distance between genes on
chromosomes, representing 1% cross over.

4 A unit of distance between genes on

. -chromosomes, representing 50% cross over.

Concanavalin Ais .

(1)  analkaloid

(2): anessential oil

(3) alectin

(49 apigment

Cells in Gy phase :

(1)  exitthe cell cycle

(2)  enter the cell eycle

(3). suspend the cell ¢ycle

(4)  terminate the cell cycle

Select the correct sequence for transport of sperm
cells in male reproductive system,

(1)  Testis — Epididymis — Vasa efferentia
— Rete testis—Inguinal canal — Urethra
Seminiferous tubules — Rete testis
— Vasa efferentia — Epididymis
— Vas deferens — Ejaculatory duct
— Urethra — Urethral meatus

Seminiferous tubules — Vasa efferentza
— Epididymis — Inguinal -::ana_l
— Urethra

Testis — Epididymis — Vasa efferentia
— Vas deferens — Ejaculatory duct
— Inguinal canal — Urethra
—> Urethral meatus

@)

3

)

18

81

82.

83.

85.

@

Englsh+Odia
Fe60 SRLIRAS 90 FEQ 6ANIRE Feiea 2e6n
291 ale 990 daig - -

@ QUF AT ASRgR @ zguEn

® feeq uage () ge

© AWRSY 2T, ) g9
Al {latolale]

@ geeq 9@ ) e

or 2eed 918 :

_ (@ (b) (& @@

@ @ @ @ ).

@ @ G @

@ G v @ @)

@ @ @ @

AR QIS AR IR TR 60 dI5Tea
a9 (6Q46R106HIR) NSAR FAULIN ?

D) 10% 21QI264 62102 9aP g@ia@ &3 CRIER
4ol QOga Nae |

@) 100% QUILRE DR YR gmlﬁ!@ &R FRIER
491 GOQQ NGR |

B 1% AK0E SARAS FHIYE6R G éﬁaﬂ-—uea
AL QR0 Qe |
50% CINIBRS 6QIReRl ga9aca 908 e

RIEH Q) RYR YRR |
FEARIRIRG A 99 :

1) SRS

(2) 96QRIZIN L
B  6RwR

@ aasne

G, UILIER 6QIVGER :

O sRger VBB

(2) 6RI99] AUy g6ed 0@

(3) 6RIEeR § Fade adanzd
@  6RI80R § AaIg edaB

Jod Kea0a64 g1l sRIga taees & O a9g7d
R :
1 4qid - deeIafig - @d aceendal
— 6Q6¢ 669P'Y - ARYARIN RN —
Qe

JAP? VRl o 626¢ 6959 — gl
Qasandal — adétafiq — 48 LRt
- PRI IBX1 - 98I > geaiadizieq
4e29? FR19I — @ld egsaadul—
RPN - AAGIRIR 6RFIR — ¢8I
gare — 2dfendia - aal aoeesds
— g% QLRN — Y QBT — ARYARIR
CRRIR — QMG — Geagiaditleg

T
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3
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. Which of the following statements regarding

mitochondria is incerrect ?

)
2.
@

4

Quter membrane is permeable to monomers
of carbohydrates, fats and proteins.

Enzymes of electron transport are embedded
in outer membrane..

Inner membrane is eenveluted with
inifoldings.

Mitochondrial matrix contains single
circular DNA molecule and ribosomes.

87. Persistent nucellusin the seéd isknown as:
(1) Chalaza -
(2)  Perisperm
@) Hilum
4) Tegmen

ISS. Identlfy the correct pair representing the
causative agent of typhoid fever and the
confirmatory test for typhoid.
(1) Pleemedmm vivax / UTI teet
(2) Str epteeeeeue pneumenme { W;ldel test
(8  Salmonella typhz.!Anthrene test
@  Salmonellatyphi/ Widaltest.

89, Match the hominids with their eerreet_ brain
gize :
(é} Homo habilis @ 900cc
() Homo neanderthalensis (i) 1350 cc
iie) He_nie erectus (iit) 650-800cc
d) Homosapiens av) 1400cc
Select the correct option.

@ ) ©
@ @ & G @
@ G @ O
& @ G O @
@ G @ O @
90,  What is 'It_he site of perception of photoperiod
necesgary for induction of flowering in plants 7
(1) Lateralbuds

@  Pulvinus
(3)  Shootapex
(1) Leaves

19

86.

87.

88,

89.

90.

Pe
AResIedel anase FaRge 689 086 e :

) 6g6Qle, 692a1Q 19" JEKIQ @ ASAINQ 9]
QI TIQSFY 26T

@2 AMER CRIER RENREEIR TIRACATEH, SR
Jee Qpaless Ade ceIa QUIZIR |

B ueieds AT, feagRinde Qe
QUNRE ('eeeelmiseej 621RA1 |

4 QeseIdala 2iRIe (AIF]) Y9! QRIS

.49, 8¢ 99° QURERERIF URE QG2 |

Afica 2ol GF TRcANA § @6 QRIAN 2

1) oIl
@ ecodad
@ e
(9 69CsAR.

AeRae fug ade caield fda @0 A2 SIRTEe
FOS FRAICR IR NG FIRTNER 2QEAITE TN

62I@ &g :

1) gasadan eiged | UTL aanal

Q) 69 G6I6RIRY FeAPEN | Glaeln Aenal
(3)  ameaeasy 61 [ AIRegle 9a1dl

@  ameaisRay IR | Inein audi

&S 6 010 9ERIREe JIRMIes AL SRUIQLS!
agotaia (calfiter) Abe sanirwa ade ade
2IRQG 699 AN :

(@) 6@l6wy LIORQ @® 900cc
(b) 6elean Femeadengaq (i) 1350ce
(€  6L6 REANE'Y (i) 650-800cec
@  e@sen oAl Gv) 1400cc
O aaa I8 :

@ (®m @©@ @@
GO @ @ v @
@ W @ O o™
@ @) v @ @
@ (v @ @ @
ofiea ¢ad 2rad g Sede aid FIRIe ANB6R
GeIFe e :
O aga oF
2 daEeq
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P6
91.

92.

93.

95,

96,

Which is the ¢orreet thermal stability order for
HE(E=0O, 5, Se; Te and Po) ?

HyS < HyO < HySe < HyTe < HyPo
@. Hy0<H,S <HySe < HyTe < H,Po
3  HyPo < H,Te < H,Se < H,S < H,0
@  H,Se <H,Te < H,Po < H,0 < H,8

The compound that is most difficult to protonate
is

-0
QA  H-  ONH
0 2

o |
®  me e

- _-0 |
@ Ph— \H_

e

Among th_e' foil@wing','the narrow spectrum

antibioticis "
M) peRiElHG
@ sinpicillin

(3) amoxycillin
4  chloramphenicol

4d, 5p, 5{ and 6p orbitals are arranged in the order
of decreasing energy. The correct optionis:

() Bf>6p>5p>4d

@)y 6p>5f>5p>4d

3 6p>5f>4d>5p
4 bf>6p>4d>5p

The method used to remove temporary hardness
of wateris:

(1) Calgon’s method

(2) Clark’s method

3) Ion-exchange method

(4)  Synthetic resins method

Which of the following is incorrect statement ?

(1)  PbF,iscovalentin nature

@y  8iClyis easily hydrolysed

@) GeX, X=F, Cl, By, I) is more stable than
GeX,

(49  SnF,isionicin nature

20
91

92.

93,

95,

96,

e

H,E (E=0, 8, Se, Te 1@ Po) Qs 20@ o1da

{001 9 206 6008
A
@  Hy0 <H,S <H,Se < HyTe <H,Po

H,S <H,0 <HySe < HyTe <HjPo

@) HyPo<H,Te <H,Se <H,S < H,0

215 Q%60 6gI6CIERE sendsl 6dlSed cead -
—
® u-" NH
0
@  He o TH.
@  HyC CH,
4 Ph H
@0 goa g aad odial gPeRaat 6908
(1) 6akdfa G

@ afaae
3  eMPARG

@) eUUZIFROR

4d, 5p, 5 49° 6p @AF AIRTA 95 grLIde AINER
<eQ! 6RIe8, Q0R 3080 6283 :

M  5f>6p>5p>4d |

@ ep>5f>5p>4d

(8 6p>5f>4d>5p

4 bf>6p>4d> .5p'

SPQ UG 96Q 98 fiel U1 Giege 0868
cead ;-

1) FREEE Ud8E

@ QIR aed

@) ULR-96R 98F

@ Qreada cofan 066

Sodige e8q 69ds QR 7

() PbF, Qesaisn geba

(2 SiCl, 286 a0 AAaTe 24

@ GeX, X=F, Cl, Br, 1), GeX, OI§) &l RILM
@) SoF, A geoe
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97

98.

99.

100.

101.

Match the following :

(@  Pure nitrogen )  Chlorine

(b)) Haberprocess (i) Sulp huric acid

(@  Contactprocess (i) Ammonia
Deacon’s process. (iv) Sodium azide or

@

1)
@
3
)

- Barium azide

“Which of the fci]lﬁwihg'ié the correct option ?

@ O © @
@& @ G G
@ v 6 G
@ v @ o
) @ @ 6

Conjugate base for Bfﬁnste’_d acids HyO and HF

are

M
@
@
@

OH~ and HyF*, respectively
H,0+ and F—, respectively
OH~ and F—, respectively

HiO+* and HyF*, respectivély- &

A

The manganate and permanganaté: ions are
tetrahedral, due to:

oy

@

3)

Sy

The w- bonding involves overlap of p-orbitals
of oxygen with d-orbitals of manganese

: There 15110 - bondmg

The - bfmdmg involves werlap of p-orbitals
of oxygen with p-orbitals of manganese

The %~ bonding involves overlap of d-orbitals
of oxygen with d-orbitals of manganese

Which will make basic buffer

1)
@)
(3

@

650 mL of 0.1 M NaOH +25 mL of 0.1 M

CH,COOH

100 mL of 0.1 M CH;COOH+ 100 nL of
0.1 M NaOH

100 mL of 0.1 M HCl+200 mL of
0.1 M NH,OH

100 mL of 0.1 M HCI+ 100 mL of 0.1 M
NaOH .

Among the fallowmg, the one that is not a
green house gasis:

L
@)
®)
4

nitrous oxide
methane . -
ozZone

sulphur dioxide

21

9.

98.

99.

100.

101,

Pé

Foage g fwia «

(@) ¢ sIRegiean (O  exEaeR

& 2190 989 @ decfa ¥de

© @9 08% @) geaRe

) soags 9&d (v} 62R9 IRIRQ
@ 6O
RIae

Q0. Seeq Bq IR - |

@ M © @
O O @ @
@ @@ @ @ G
@ @) Gv @ O
@ Gv @) @ o
Q9680 27 H,0 ¥o° HF @ °gQt 816 62008
() OH~™ <9 H,F+, 921969
@ Hy,0t <& F-, Qaiged
3 OH™ 9o F._* gageq
@ H0t <o H,F*, Qeiger

ClIENERS!, MG FOFIGNSRE 2SR Gen 60518eaR Qe

1) w-08f 2PEERA p-a9e AW ATIFER
d-29eq 251G dfe Gl"q&;

@ 6ab 65168 w-o8 fI@

@ monf 2FeRRR p-age 486 AITIERS
p-A8eQ 2Geud Q@ age

@ 7-onf AF6Raa d:as'aa_q@@ AT
d-egeq 2oouid dbde ade

CRAS BIQIY U6 Q09 ?
1) 50 mL 0.1 M NaOH+25 mL 0.1 M

CH,COOH

@ 100 mL 0.1 M CH,COOH+100 mL
0.1 M NaOH

3 100 mL 01 M HCI+200 mL
0.1 M NH,OH

4 100 mL 0.1 M HCl+ 100 mL 0.1 M NaOH

GoRge frig 6988 99 AgRMe SIF Q_SE ?
Q) 998D AFRE

@ feagw

B GeRIR

@) 9T CINISIG
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P6

102,

103.

104.

106.

pH of a saturated solution of Ca(OH); 18 9. The
solubility product (Kg;) of Ca(OH), is:

(1) 05x10-15
2 025x10-10
(8) 0.125x10-15
4 0.5x10710

Match the Xenon compounds in Column - I with
its structure in Column - I and assign the
correct code :

Column -1 Column -1I1

@ XeF, )  pyramidal
(by XeFq ()  square planar
(@ XeOF, (i) distorted octahedral
d XeO, (iv) square pyramidal
Code:
@ b @@ @@
» O @ @
@ @ @) vy @
@ @@ @G O 9 Gv)
4 @@ v O @

An alkene “A” on reaction with O, and Zn—H,0
gives propanone and ethanal in equimolar ratio.
Addition of HCl to alkene “A” gives “B” as the major
product. The structure of product “B” is -
CH,
|
1 C1-CH,—-CH,-CH
T

CHy

CH,C
@  HyC-CH;—CH-CH,

o
Cl
H.C—-CH—-CH
@) A
Cl CH,

Which mixture of the solutions will lead to the
formation of negatively charged colleidal [Agl]I~
sol. ?

(1) 50mLof 1 M AgNO;+50 mL of 1.5 M KI
@ 50mLof 1 M AgNOy+50 mL of 2 M KI
3 50mLof 2 M AgNO,+ 50 mL of 1.5 M KI
@  50mLof0.1 M AgNO,+50 mLof 0.1 M KI

22

102. Ca(OH), & @ 9898 996 pH 9 €26R Y&IR

103.

104.

105.

QA6 gaae (K, ) 6298 :

B 05x10"1

@ 025x10-10
(8 0.125x10°15
@ 05x10710°

ga - I 6 oI 689 6JIGe gEq 9a - I 6a <l
ool dbo frin Ade Weaes @2 .

Qa -1 Qa - II
@ XeF, © Sefen
b  XeF, () 6K YRR
© XeOF, (i) SUERECR UQERGIN
@ XeO,q iv) 62AQ JafeIR
‘31"69'9_ :
@ (b (@ @
O O @ @@ @
@ @ @ @ @
@ G @ O @
@ @ @ @O @

NG IRER “A” § 0, ¥e° Zn-H,0 d8c gbqal
FER 6YINFR ¥L° RAFN AVSARR 2RACER
@l YIRGe “A” 6a HCl daiash g4y edie alee
“B” @1 aQIo ‘B’ eoqld 69ad

B,
I
- CH4
CH,Cl
@  HyC-CH,—CH-CH,
® HyC-CHy;—-C-CH,
: I
Cl
H,C—CH-CH
@ | a
Cl CH3

IR oie 29l [Agl]l™ QEANEIR AR A0
dle YR caw Agada il 28 ?

(1) 50mL 1M AgNO,+50 mL 1.5 MKI
@ 50mL1MAgNO,;+50 mL2MKI

3 50mL2M AgNO,+50 mL 1.5 MKI
4 50mL 0.1 M AgNO,+50 mL 0.1 MKI

-
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106.

107,

108,

109,

110.

111

For anideal solution, the correct optionis:

D A, S=0at constant T and P

2y A, V=0 at constant T and P

@) Ay H=0at constant T and P

4) A G=0at constant T and P

In which case change in entropy is negative ?

{I)  Ewvaporation of water

)  Expansion of a gas at constant temperature
(3)  Sublimation of sclid to gas

@ 2H(g)— Hy(g)

The number of sigma (¢) and pi (7r) bonds in
pent-2-en-4-yne is :

() 10 obonds and 3 wbonds
(2) 8obondsand 5 whonds

8) 11obonds and 2 whonds
4 13 obonds and no whond

What is the correct electronic -:':o.nfigu.i'étiﬁn of
the central atom in K4[Fe{CN}ﬁ] based on crystal
field theory ?

(1) tz_é eg
) tzg eg
® &t
@ et

For the second period elements the correct
increasing order of first ionisation enthalpy is

(1) Li{Bec:B*:C{N*:G{F*:NeH
@ Li<B<Be<C<O<N<F<Ne
3 Li<B<Be<(C<N<QO<F<Ne
4 Li<Be<B<(C<0O<N<F<Ne

For the chemical reaction
Ny(g) +3H,(g) = 2NH,(g)
the correct option is :

o -1 1 g

at 7 at
_ dNs] _ , d[NHg]
& rroaial 7
_dNg] _ 1 a[NH]
@ & 2
d[Hy] _ . d[NH,]
OIS TV

23

106.

107.

108.

109,

110.

111,

Pé
NQ 298 994 A AR a9 chad .

D) A 8=0, 80 T4e° P ¢a

@ AL V=0, 30 T 99° P 6o

@ Ay H=0, 8 T 96° P 60

@ AL, G=0,8a T 9 Psa

6ad GE¢ISa 1671 9op SYBIAR 94 7
D e Adeed

@ 99 eelge avaa 9F

3 e02 2euq oHIag aFvlee”

@  2H(g) > Hy(g)

pent-2-en-4-yne 62 49 QaFll (¢) 9° TN (1) S8R
QY 00T |

1) 10098 99° 3w oQ

@ 8ocRYS* B s

3) 11 0 @9 99° 2 17 9F _
{4) 13 o Q@9 ¢g° o0 el

K,[Fe(CN),} @R, dae, e AGAICR ERFER &R
JeIgPe a0t aeacy@e G948 @'s 7

(1) 1:2;i eg
@ty ep
@ &t
@ o't

Go1 adin edldenies ol gan acaRinsRan
NRgInde a0f o8 |rd cead

() Li<Be<B<C<N<O<F<Ne
(2} Li<B<Be<C<(O<N<F<Ne
B) Li<B<Be<(C<N<O<F <Ne
4 Li<Be<B<(C<O<N<F<Ne

No(®)+3Hy(g) = 2NH,(e) miade gdda aig
abk 5998 coad -

o - 1 diHs] 1 dINH,]
(W R T T

d . d[NH
@ - th] Lo [dt 3]§

_ 4[No] _ 1 d|NH;]

© &t 2 @

d[H,] _ , d[NH,]
@ . dt Cdt
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P6 24

112. The number of moles of hydrogen molecules | 112, 2I00Q IEBER 20 EAIR IEAIFETI RYIGR AIR FORIG
required to produce 20 moles of ammonia through £202G| QGRIR AN A3 6298 :

Haber's processis:
@ 10 s
2 20 2 20
@) . 3{] @ 30
@ 40 4 40
113. Tfthe rate constant for a first order reactionisk, | 113 9@ 929 |9 geRaIa 216 daiT 94 k g9, 90T0IR
the time (t) required for the completion of 99% of 99 €QI°4! ‘-E'l‘!—‘fg_"‘i.!.= CERINIR 6266 AL () QORI ?
the reactionis given by : (1) t=0.693/k
(1) t=0.693/k (2) t=6.909/k
© t=6.909/k @ t=4.606/k
(3) t=4.606/k @ t=2.303/k

4 t=2.303/k | | - _
114. QIRERIEAITFIARANE & A0R USRI 62T :

114. The correct structure of tribromooctaoxide is : 0
0 : 0\‘;\ il &
L . O=Br—Br-Br=0
O=Br-Br-Br=0 (L) of 13,
(1) sl S . 0
0 0 O
0O R il A
o, v O _ o) O=Br-Br-Br-0
O=Br-Br—Br—0 o7 - g
@) v o N O
0 o
O O
0 = I Il s
~ O% It 0 ) O—-Br—Br—Br=0
O-Br—Br—Br=0 o A O
3 Ty 5 R 0
O 0 O ~
O
2 O l O
O 2 A
O**:- [ //0 @ 0-=/Br—Br—- Br—0O
=Br—Br—Br—-0 & N
@ OFTHTRY 0" g O
Y o :
115. Which of the following diatomic molecular species 115. @¢ 998 QEI&QI@IQ SRR Q660 UGV o
has only  bonds according to Molecular Orbital AL 6RAYER 6QIR T-R UG ?
Theory ? 1) O
@ Oy @ N,
@ N ® G
@ G 4) Be,
4  Be,

116. 8¢ saia gé3a A
9Fe3* (aq)+ 21~ (ag) — 2Fe?* (aq)+ L(aq)
By = 0.24 V at 208 K (@ 6RI90 S19IE §Q IRE
(A,G®) 6298 :
[gee : GIRi6e §aie F=96500 C mol ™ 1]

118. For the cell reaction |
9Fe3* (ag) + 21~ (aq) — 2Fe?* (aq) + Iy(aq)

£S,,= 0.24 Vat 298 K. The standard Gibbs

energy (4,G®) of the cell reaction s
(Given that Faraday constant F= 96500 Cmol ™ 4

1) —46.32kJImol ! () —46.32kJmol” !
@ —23.16kJmol~! @ -28.16kJmol™1
@)  46.32 kJ mol ™} @) 46.32kJmol~!
@ 23.16kJ mol ™! @  23.16kJmol™!

T
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117. The most suitable reagent for the following
conversion, is :

HC _ CHg
HBC—CEC—CHE—'—} >E<
H H

cis-2-butene
(1) Na/liquid NH,4
@ H, Pd/C,quinoline
(& Zn/HCI
@ Hg®*t/HT, HyO

118. - A compound is formed by cation C and anion A.
The anions form hexagonal close packed (hep)
lattice and the cations occupy 75% of octahedral
voids. The formula of the compound is

(D Cohg
2  Cihy
B Caiy
4 Cuig

119. Among the following, the reaction that proceeds
through an electrophilic substitution, is :

i C
(1) NgCl Cuz 2 QCI+N2
AlC
(2) @+C]2—~—1ﬂ} @—CHHCl

® @“"Clzuwght “
(4 QCHEOH + HCl}‘—ea—t»Q— CH,Cl+H,0

120, The biodegradable polymeris:
() nylon-6,6
%) nylon2-nylon6
(8) nylon-6
4  Buna-S

121. Which of the following species is not stable ?
O [SiFgl%~.

@  [GeClg)?~

3  [Sn(OH)gl*~

@  [SiCl ]2~

P6

117. G¢6q goa qdiea dIg A901g AUYe ARRIAR
CaRR :

HiC H,
H,C—C=C-CH; ——
H H

cis-2-hutene

(1) 6QBae/ 0% ARSI
@ H,, Pd/C, QRERING,
(3 Zn/HCl

(4 Hg?t/H*, Hy,0

118, 669196 C ¥° QIR A Qa1 sqIE 6d\de a00

cRIR8 | YSIOR CRFIETIRIR 6RIR 6T0RE (hep) AUITY
S0P FEQ NG° RUSIAR AQIELRING 75 §61°6 VIR
oda 960 | sJIGR00 YERed L08R :

(D Codg

2 Cghy

@  Cih,

@ C,

Botge 9oaN FG 6RE6 AEREZIFR 6921 0PI
6oR 618 Q6Q :

a
M Qﬂﬂm MQCHNE
L AIC
@) (;ygm2 's, QGHH(}}
a o

- @wrzﬂﬁgﬁy a— ol

Cl Cl

(4) @—CHEOH +H011—m—ag©fCH2'C] +H,0

120. 6FQ20E0 CLRGT 620R :
N SR8, 6
2 SRR 2-FINRK 6
B feRR-6
@ Q@S

119.

121. 3960 9aa 9dre 6aed 90 geR °
O [SiFgl*-

@  [GeCl]*~

@  [Sn(OH).*~

@ [SiClg2"
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Pé6

1232,

123.

124,

125,

3) (CHg)gN > (CHy),NH > CH3NH,
@)  CH3NH, > (CHy)NH > (CHg)yN
The major product of the following reaction is :
COOH
+ NH, strong heating :
A
COOH

0
@) ‘ NH
O
COOH
- “NH,

26

Which of the following is an amphoteric
hydroxide ?
(1) Sr(OH),

2  Ca(OH),
@)  Mg(OH),
@  Be(OH),

The correct order of the basic strength of methyl
substituted amines in aqueous solution is :

() (CHg);NH > CHyNH, > (CH,) ;N

COOH
CONH,

NH,
NH,

Which one is malachite from the following ?

(1)  CuFeS,
2 Cu(OH),
3 Fey0,

@  CuCO,.Cu(OH),

122,

123.

124,

125.

P68 OR AARCLIFINR UG 848 pegRIdT 7

(D ST(OH)Q
@  Ca(OH),
3 MgOH),
4)  Be(OH),

daiam gedide wiaa 9mMg 99d6a 1919 98a
A0e a8 62ed

(L (CHy,NH > CH,NH, > (CHy)4N

@  (CHy,N > CH,NH, > (CHy),NH

(8  (CHygN > (CH,),NH > CH,NH,

@  CHyNH, > (CHy),NH > (CH,),N

FoRge gRAIRR g @1ed o0 -

COOH
+ NH, strong heating ;

COo0H
. COOH

CONH,

0O

0

COOH

NH,

NH,

NH,

FORige 6A10Qq 60RF AIRISIRS 7

(1) C“FESz
@  CuOH),
3) Fe,0,

@  CuC0;Cu(OH),

T
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27 P6

126. The mixture that forms maximum boiling | 128 @ fga aiel asiye IeB 9HE6EI 909 P6a
azeotrope is: Y

(1)  Water + Nitric acid ——
@  Ethanol + Water D o8 +omge e
(3  Acetone + Carbon disulphide @  UIR+EP

@  Heptane+ Octane @ <eIR+aISe einagiee
4 626N +UAEER

127. Identify the incorrect statement related to PCI, |

from the following : 127 PCl; anasa g ad8q Sghe o8q Qig|

(1)  Three equatorial P — Cl bonds make anangle (1) 86T FaMg P~Cl on Hode FRIGE 120°
of 120° with each other : 608 RO

@ Twoaxial P Clbonds make an angle of 180° @ 26§ 2810 P- C1 90 3089 FRISR 180° 6RIQ
with each other : f: 5

3)  Axial P-Clbondsare longer than equatorial o N
P —Clbonds ' @) QA P-Clos Foma P—Cl oF 0l 2RIR

{4 PCly molecule is non-reactive me

@  PCl; 2¢F agdgase

128. Under isothermal condition, a gas at 300 K - |
expands ﬂ'ﬂm 0.1 L t0 .25 L agaj_ust 3 ﬂﬂngtant 128. Q’]ﬂ@fg‘lﬂ EJQ@GE} SG”G’Q gq’q 300 K 66 q° @6}

eXte?nal pressure of 2 bar. The work done by the QULYSIA 2 bar GUFER 0.1 L Q 0.25 L @ QFarqi
gas is : | L QIR 6208 Iy 6007

[Given that 1 Libar =100 J] [99@ 1 L bar=100J]

O -304 G -s03

@ 5kJ @ 5kJ

@ 254J @ 25J

@ 304J @ 30J

129, Which of the following series of transitions inthe | 129 AAPIR TOAIGS edIFIeR FORde degisa NIEHA]
spectrum of hydrogen atom falls in visible 6098 QQITIR F906a 60 2

region 7

() Lymanseries H aueae 8de
(20 Balmerseries @ QiR 98
(8)  Paschen series @ aKees Jdae
(4)  Brackett series @ Qleee ﬁé@

130. Which of the following reactions are | 13p. ﬁﬂ'ﬁ‘tiﬂ@ g@@ai FrIg, cans Aepdle] g@@ﬂl 5
disproportionation reaction ? . : 7,
' ' ' @ 2Cu* 5 Cu2+ 4+ 0yt

@  2Cut — Cu?t +Cyd o | -
; D - (b) 31\'1'[’104 -+ 4H+ —> 2Mﬂ04 ‘E‘MHOE +2H20
®  SMnOy + 4H" - 2MnO] +MnO, +2H,0 - |
© 2KMnO, 2, K,MnO, + MnO, + O,

(ﬂ} 2KMD.O4 ...é} KEMHO4 + Mﬂ02 5 _02
@  2MnO, +3Mn?t +2H,0 — 5Mn0, +4H@
@  2MnO; +3Mn%* +2H,0 - 5MnO, +4H® o

ade Sagq Hga e

Select the correct option from the following : A (2) 99 b) coon
1) (a)and (b) only

@ (a), (byand (c) @ @ .0
(3) (@),Qand@) @ (a), ©9e* @)

@  (2)and (d) only @ (2) 99 @) 6990

T
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P6 28 [Engishe0dial

| 131, 9% Q6RE.% 966 9@ 6RISaIR 298 K 69
181. For acellinvolving one electron Eoy=059V at | % N K
298 K, the equilibrium constant for the cell reaction ESn=059V 6R19 goqadl diet ¥2ie QiCiledl
38 doie 6208 -
[Given that %LUEEE = 0.059 Vat T = 298 K] [g@@ 2.30F3_RT' L OOSR VAt TS 298 K]
(1) 1.0x 102 1) 10X 102 .
2 1.0x10° ©@ 1.0x10°
@ 1.0x10 @ 10X 10;3
@ 1.0x10%0 4 1.0x10
182. The structure of intermediate A in the following | 133, #ghige gfFada arIeet 9918l A @ oIS
reaction, 1s cond
cnl OH cu” OH
“\CH, o “\CH, .
2, AT + HC )J\Cﬁa Op , o HT , + H,C )LCHB
H,O : 1.0
% 2
CHg CHy
|
v B
LS REEREN _ L
CHs CH,
oy 0]
CH, CH,
i .
HsC-C~0-0-H H,C-C-0-0-H
@ | @ @
CHy CHy
0-0- ([Z‘I-I 0-0-CH
. |
I
: : : CH
@ CHs ® ‘ 8
/CHZ—O—O—I—I /CH2~0—O—I-I
HC
HC_ CH, ™~ CHj
@ @
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133.

134,

135.

136.

137.

The noni-essential amine acid among the following
18 |

(1) wvaline

2) leucine

(38) alanine

4  lysine

A gas at 350 K &, - .. hag molar volume
20 percent smalleré....  .atfor anideal gas under

the same conditions. it correct option about
the gas and its compressibility factor (Z) is :

@

Z > 1 and attractive forces are dominant

(2)  Z>1andrepulsive forces are dominant
(3) Z<1and attractive forces are dominant
(4) Z<1andrepulsive forces are dominant

Enzymes that utilize ATP in phosphate transfer
require an alkaline earth metal (M) as the cofactor.
Mis:

1 Be
@ Mg
3 Ca
4 Sr

A mass m is attached to a thin wire and whirled
in a vertical circle. The wire is most likely to break
when:

(1)  the massis at the highest point
(2}  the wire is horizontal
@)  the massis at the lowest point
(4}  inclined at an angle of 60° from vertical
j»-—f Vv
S
:/ { % E*
Al —3LED (Y)
4 il
B 1

The correct Boolean operation represented by the
circuit diagram drawn is :

1) AND
2 OR

(3) NAND
4 NOR

29

133.

134.

135.

136.

137.

Pé6
&9 gew <denl ¥da AUy 6Rad Zeaaial ?
1 R
@ fedR
@ dbe
@ ede

@ SHIde 350 K 99° 15 bar 6@ &¢I 2I96R
QOIS AAES UM R ZIQd GHIL 01 20 9618 @¢l
NIQ e YRR QITE0 flee (Z) Fansa ade

Lot cead :

1)  Z>149e° 2Iaga F 98461
@ Z> 199 Gedg an adeim
(3) Z <19 299e o §8aIa1
@) Z<14e a098 9f a8IRT

daIee ¢ée <igl ATP § 9dsas AIRIER aIsl
SHeAIT 908 @ ARG QUG (M) § AL QUER
2090 608, M-6208 :

(1) Be
@& Mg
@ Ca
4 Sr

6QISN AR ISR SRIAIRAS ‘m’ 9Le §9] 99
9@ YR QAIRIR J266 oI Ie8 | P Q10T 84
dele 290lq 28 ARSR ORI, §U66 6O6R

1) 9gf 0uda asele s 89 |

2 108 YLAISAR CRIRYS |

@) 99% 02ta Aeay 996a a9 |

@ ole6 9RA L0 60° cHIER 2IGesR g9 |

+6V
gﬁ
l:EILED 4

;

8 MO CfaT eaa RAS. Fal AIAIYIF!
(29602%) § gode @af :

1) AND
@ OR

@ NAND
4 NOR
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P6

138, Six similar bulbs are connected as shown in the

139.

140.

figure with a DC source of emf E, and zero internal
resistance,

The ratio of power consumption by the bulbs when

(i) all are glowing and (i} in the situation when

two from section A and one from section B are
glowing, willbe :

>

i

3 3 3w

i g

@
@
@)
4

[RC T O < < B
- T He WD

Two similar thin equi-convex lenses, of focal length
feach, are kept coaxially in contact with-each other
such that the focal length of the combination is
F,. When the space between the two lenses is
filled with glycerin (which has the same refractive
index { = 1.5) as that of glags) then the equivalent
focal length is Fy. The ratio F, : F, will be :

) 2:1
2y F
3 2:3
4 8:4

The displacement of a particle executing simple
harmonic motion is given by

¥=Ay+Asinet + B cosot.
Then the amplitude of its oscillation is given by :

O Ay + VAZ + B2
2} JA? + B2

@  JAZ + (A +B)?
@ A+B

30

[ English+COxdia ]

138, Ogea MITINYS! 29A6a 82 wRIF eneq E

140.

S9YeQIee Of (emd) ¥&° gRY et gPeRI AR

9 ¢4 92 afe Q6aIs RRIaR | Qad
INEEEQ (i) 6K6O6RER ALIN FRYS 9L°
(i) 6KIEEERER A U6 QaG 8 B 66 6618 9f
SRR, 98 SR LIOR UQUIC RO 68 7

i Af————

B
{w
(™

3 3 _3F»

]

(1)
@
)
@

e = D e
b o O

feaq 654y 388 QR 20deR! YRING 2TeRR
SR YR QUER RANNG @B agRlg 628 Lg
SRRQ SCIGQ 694 F, ORI 6606R6R 628 9N
ERY FRIER g9l sl YiIeq H6dde (VaR godedis
(p=1.5) 9190 gfadIs d2Q9Q) QeI
FUIgN, CANNRTR AAQRY 6TINQ €Ty F,.
CRINKIN | 6669 QA0 F, : F, 6060 609 7

o 2:1
@ 1:2
@ 2:3
@ 3:4

dom IREAIRR a6sa el edity *dqia IUCR
6aml,

y=Ag+Asinot+B cosot
6068 IIRRTA A Q66 689 ?

O Ay + VA% +BY
@  Ja? + B2

®  JAZ +(A+B)?
@ A+B

collegedunia:s

India’s largest Student Review Platform

T




141.

In which of the following pmcesseﬂ,.geat isneither | 141, €69 TR 606 gEAI6R Y YSIHIF
absorbed nor released by a systom ? SINGRd K60 FIT Gl NIE R 91D
isothermal
(1) 1sotherm O wae
(Z2) adiabatic
- @ e8I
(3)  1sobaric
{3) QeI
(4)  1isochoric o
@ aorigede
142, A disc of radius 2 m and mass 100 kg rollson a | 142. 2 f. QUIQAE & 100 &.91. 92¢ 388 g ARG
horizontal floor. Its centre of mass has speed of (52) 9g guaien ooIgen 9668 QIRE | e
20 cm/s. How much work is needed to stop it ? b ! - -
QgQ 6RE8 696 2Rl 20 6a.8./62. | <oIg §a
O 8d GOQI alel 6ase QIaie ZIeaIge! Bid ?
@) 30kdJ () 3d
@ 2d @ 30kJ
4 1d 3 2J
4 -1d
143. In the circuits shown below, the readings of the o . o
voltmeters and the ammeters will be ; | 143. welea QAR 69VIPR JQUEH YD RING

31

104
A m }.1 | | .1{] ¢ _ II’E
(VA ' it
p 4 10 Q) :
| | @ _ '
| |
oY !llf} A" IlEO \'
Circuit 1 Circuit 2 |
I Vy>V; and i;=i, awge 1 aaae 2
@ V=V, and i, >, () Vo>V, @ i =1,
@ V=V, and i;=i, @) V=V, Ne° 1, >,
' | {4 VE ?-*‘Vl o il > i'z
144. a-particle consists of : L
144, o-269 O'Q :
(1) 2 protons and 2 neutrons only | .
; 1 eaem 2 6! ? N
(2)  2electrons, 2 protons and 2 neutrons 0 | Qeaq Ne" 2 ﬁgg@%a
(3}  2electrons and 4 protons only (2} 2L6RRgaq, 2 6dI9Rd 1e° 2 99 aIM
(@) 2 protons only (3) £ 2 QENRTRY de* 4_6@6‘9‘3 aig
d) 6P 2 69I6Rd aIY
145. Two particles A and B are moving in uniform . L ) _
circular motion in concentric circles of radii | 145, QRG @€F A 99° B, ¥, 8 rp QAT Y 906

r, and rp with speed v, and vp respectively. Their
time period of rotation is the same. The ratio of
angular speed of A to that of B will be :

Pé6

dea 6 2Ifion 6o adieael qay @b 629 7

QPR Q@RS TRALER H2AIREA v, B vy CRAER
6% @988 | 6QMaE]R gde AKARNIR AP T6T |
6062 A 6 B @ 6GE& 6900 4{UE 699

1 .

@ rp:rp @) ry:rp
(2) Ua s U (2) vyt Up
(3 rg:iry 3 rpiry
@ 1i:1 4 1:1
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Pé
1486.

147.

148.

149,

For a p-type semiconductor, which of the following

statements istrue ?
a El:_e,_c'trons ére_ the majority carriers and
* trivalent atoms are the dopants.

(2)  Holes are the majority carriers and trivalent
atoms are the dopants.

(3) Holes are the majority carriers and
pentavalent atoms are the dopants. -

(4)  Electrons are the majority carriers and |

pentavalent atoms are the dopants.

Which colour of the light has the longest

‘wavelength ?
®
@  blue
@  green
4  violet

Pick the wrong answer in the context with
rainbow.

(1)  When the light rays undergo two internal
reﬂections in a water drop, a secondary
rainbow is formed.

(2) The order of colours is reversed in the
secondary rainbow.

(3)  Anobserver cansee arainbow when his front
15 towards the sun.

(4)  Rainbow is a combined effect of dispersion,
refraction and reflection of sunlight.

A small hole of area of cross-section 2 mm? is
present near the bottom of a fully filled open tank
of height 2 m. Taking g = 10 m/s2, the rate of flow
of water through the open hole would be nearly ;-

(1 12.6x10-8md/s
2) 89x10-%md/s
3 2.23x10"5md/s

(@  6.4x10-6m5/s

146.

147.

148,

149,

English+Odia.

665N p-6IRC YEUARIDT CHGER, 06R TALINYS

6og @3¢ 0. 7

(1) QERRERY GO 1 e I9° G-QUexlie
qAQFNg GO ca6R BAYM

@) 6RAR e 626K el WQ IS° G-A6AIS
a4 GER 626R UAQLM |

(3) 621N O SR SN QILR IQ° TG-S
ARKNIE e 626 LIAQMN |

(4 RERNERd JEe CRER (Y QIR Ie° UB-
LEAIR! ARl FPR 626 AU |-

699 9da ZISRIFR AQOIG ¢ oo 646 26e ?

Q) [R

@ e

@ Qee
@ AR

QR AMMGER GRNINYS QR 98] S

D 60606960 ZIGRIR a1 40 aR.Fg6a gnea

- agd 2Ietd goTee 99, 6alIEN 6I6agIa
agdg QR g9

@ 6UERAAT AQUPER VAR YER QA GRE
g |

@) 6K6esReR Gdate fu gdy a1eq & 69
ARXUY CAYI6R |

(1) Qg 9g0d, goded 8 goanen e %6
ARGIET |

6915 9RgS 2 m 260! SIS caIRI GIQ BF) QIG6R

2 mm? gUeae 2R Y9 €810 80 088 | 9@ 8gean
AIHIQIY 6960 VINER BR JREE 684 ?

@@ g=10 m/s?) |

() 12.6x10 %m¥s

@ 8.9x10 % m3/s

(3) 2.28x10 8md/s

@ 6.4x10"mdfs
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[Exlerzoa] 33 - Pé
150. " The total energy of an electron in an atom in an 150. &iidq a -
> 4 n ele 1 an ator ; e ¥ AITUSE YRS QEReEe

orbitis —3.4eV. Its kinetic and potential energies seNe 43 agﬂi g V sic 4 5 Q%g}

are, I'EEPECﬁVEI}F . > Ay —3.4e eS| Rq Gow o 3

& 909 496 98¢ FAIGSH 696Q. 629 7

(1) -84eV,—~3.4eV |
(D) —3.4eV, ~3.4eV
@ -34eV,-6.8eV |
- . (2) —3.4 E!V, — 6.8V
() 3.4eV, -6.8eV |
_ B 84eV, —-6.8eV
4 34eV,3.4eV.
4@ 3.4eV, 346V

151. The radius of circle, the period of revolution, initial
position and sense of revolution are indicated in 5 ouldE A Saa i A
the fe, _ 151 qabe Suiaid, 9996 2Iesa W%, G998 Mg

: NS° 00 96 989 Sesa adiaIng | weis (At
| a4 (P) @ SUAIT aReea geany () @ ey

¥4 68607

y4

P(t=0)
\T=4s

¥ - projection of the radius vector of rotating particle
Pis:

: 1 = — . oy COIOE
1  yt)=-3 cos2tt, where yinm @ @ 3 cos2wt, m ea_y GQl@o

. B
0 Tft — . " 11- g ) —
@ =4 sm(-‘—g-), where 7 in m @ =4 Em(*—z J , M 6R y 610

| 3*11":‘,. (t)zgmg'iﬂj : 5
® yv=3 cas{—z—]’_ where y in m @ v 5 |, m 68 y 6qIad
at i 4 y) = 3(:.08 —t~ 1 6@ A
@ ) =3cos % |, where y in m @ . %% ), m 68 y ¢a1ad
152. The unit of thermal conductivity is : 152. @iﬂiﬂ_'@*]@ﬂ?@ CIK0 Qe 699 ;
1 JmEK-1 (1 JImK-1
2 Jm-1K-1 a @ Jm-1g-!
@) WmEK-1 : @ WmEK-!
49 Wm-1K-1 4 Wm-1Kg-1
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P6

153.

154.

156,

34

A body. weighs 200 N on the surface of the earth.
How much will it weigh half way down:to the centre
of the earth ? |

(1) 150N
@ 200N
@ 250N
@ 100N

Body A of mass 4m moving with speed u collides
with another body B of mass 2m, at rest. The
collision is head on and elastic in nature. After
the collision the fraction of energy lost by the
colliding body A is:

o g
® 3
®
@ =

The speed of a swimmer in still water is 20 m/s.
The speed of river water is 10 m/s and is flowing
due east. If he is standing on the south bank and
wishes to cross the river along the shortest path,
the angle at which he should make his strokes
w.r.t. north is given by :

1) 30°west
@ o
(3) 60°west

4  45°west

153.

154.

155.

i -".-.. i

gAeT GEER EAIGY 9gA 6a7 6aR! 200 N (Y9I
_6QR0IG 2 GReIER IR 8RR 6REC 629 ?

(1) 150N
@ 200N
(3 250N
4 100N

. aGeecen 00eQaQl 4m §9Q S38 @ e (A),
o Zegiea Al (2m) 0gQ 84 2R e @ (B)
e NaI ceqt | 2_IE w@ §A6a (ceens) 6 €6
1050 (ARIER) gaBe 266 | YRl T6R R Q2!
A 0980 agrde 90 seeael 636 dRRIS 6203

1
W 3
8
@ 3
T, 4
0 g
. . B
@ 3

6d IEERIa1 B0 PRER 20 mis EREER AFAE
aca | 9ald 10 m/s 6R6I6a geaag 9RIRe cead!
ofie 98 *aIgesa Fel6aR Y91 @9 ARSI
o@ig 990G @A T 2BRA 47 aifeaaiq SIgen,
co6e 0Ig aan Gude 6ace 6dlde Gace A4
QoL QIg 689 7.

@  30°Q8a 2]
@ 0o
@)  60° A8 29)

@)  45° 989 ARy

T
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156. *A cylindrical conductor of radius R is carrying a

ST
AT

157.

158,

constant current. The plot of the magnitude of
the ‘magnetic field, B with the dlstance d, from
the centre of thée conductor, is correctly
represented by the figure

B I
o) AN
R 4
B
@
R d
R g
B 2
@ J
R 4

When an object is shot from the bottom of a long
smooth inclined plane kept at an angle 60° with
horizontal, it can travel a distance x, along the
plane, But when the inclination is decreased to
30° and the same object is shot with the same
velocity, it can travel x, distance. Then x; : %,
will be :

@O 1:42
@ V2:1
@ 1 J"

1:208

A solid cylinder of mass 2 kg and radius 4 cm is
rotating about its axis at the rate of 3 rpm. The
torque required to stop after 2mrevolutionsis:

() 2x10-6Nm
@ 2x10-3Nm
3 12x1074Nm
4 2x10Nm

35

158,

157.

158,

P6

R Qi€ 8da o arede (dhehan) adaience
QR ﬁa-@@:p 6316 gQIRe coad | Beea Gai
E]IE?E{QI 6o §of ade wee awmwa 6099

4’ Qaoiee q;a 62RARI QRI1A 68 (B) @ FRERY

(A1gge) g edia 28 :

a B [
o |\
R d
B
9]
R d
B (]
® i
R 4
B .
@ |
R 4

@ 999 9Fde 60° AIResa 4ot e Fg8 JI6a
@cle, Fena QasIsR, 6121 698 JUER x; Q06! 2EEH
R [ @G 646066 F1QE JaTa Qdice Bige
SRIEIQ 30° § 21 AU, 0D 99F 698 99! glode
dGERT6n 88 AQ8 YI6R %, 900! UTRA 6 |
£O0Q x; 1 x, 6Q6L 699 ?

O 1.2
@ J2:1
@ 1:3
@ 1:.243

2 kg 948 8 4 cm SYIQAE §FY 9 G AANGRY
3 rpm 21R6R 2 SIFOINER QQUB | 2r 4de TR
<21g 36 @89l aisl cace adalan 294 (od)
Zdie :

(1) 2x10~°Nm
2 2%x1073Nm
3 12x10"4Nm
4 2x105Nm
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P 6 3‘6 —_English-i-ﬂdia
159. At a point A on the ‘earth’s surface the angle of | 159. qgiq Guea ‘A’ 560 8¢, 618 5= +25° €@ ‘B
dip, 3= +25°. At apoint Bonthe earth’s surface G060 80 6Q1 3= —25°, 6669 2les SRR &A :
the angle of dip, 8= —25°. We can interpret
that : 1) o898 Ave B &g qed 288 COIRIFER
- Lo e B 280 |
(1) A and B are both located in the northern L o _ .
hemisphere. @ A J0F ofi¢ corIgen @ B 998 Qe
Rk B : SOININEE 2OF0 |
(2)  Aislocated in the southern hemisphere and : '
Bis located in the northern hemisphere. ® A 8g% 99a coianica < B 998 of
® Aislocated in the northern hemisphere and SRURNIER 2RES |
| Bis located in the southern hemisphere. @ ees A 9%° B '@@. Q@_@ ada coraiden
(4) A and B are both located in the southern uege!
hemigphere.
160, €6 QFIe Q6AE SR AP AR IS o-e8al §
. + _ RAL QUES & Fa QAND §8E (B) 66 g6ad Qa8
160. Ionized hydrogen atoms and a-particles with same 6060 AR STTLQ IS gy v, ENR 2ROI0
“momenta enters perpendicular to-a constant . o .
‘magnetic field, B. The ratio of their radii of their EREE 629 7
paths rH Iy Wﬂl be : Q 2:1
LB 2:1 @ 1:2
@ 12 @ 4:1
@ 4:1 @ 1:4
@ 1:4 e s g o ¢ A
161. AGAYS 6aa 6GGYER QURASER QR QY8 6416
_ | | _QGgIsq geals eaige fIF ?
161. Inwhich of the following devices, the eddy current ' o
effect isnot used ? 1) egeag Qb (Teh)
(1)  induction furnace @) 6ERER RIGUN! RNA 691
@  magneticbraking in train D )
(@  electromagnet @ cdeyEe gn
(4) electricheater
162. 6QISN @R, F=20+10y 99 28a1 @06a y-206
162. A force F=20+ 10y acts on a particle in y-direction aRIDIQE, cUaseR F g Facnea 1e° y § s
where F is in newton and y in meter. Work;ione GRS ULINE | *8018] y=09 y=1m adie
by~thte foues *a moye tha particle from 9B Salae! aId W@ epQIal seRdel QIR 0dele
y= Utoyulmls 2 | : :
6REH 699 7
a  30d
: (L 30J -
@ 54d @ 5J°
® 25d ® 25d
@ 20J @ 20J
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163. " A block 6f mass 10 kg is in contact agamst the
inner wall of a hollow cylindrical drum of radius
1 m. The caefficient of friction between the block
and the inner wall of the cylinder is 0. The
minimum angular velocity needed for the cylinder
to keep the block stationary when the cylinder is
vertical and rotating about its axis, will be :

(g=10 m/s?)
(1) J10 rad/s
10
(2) — vad/s
2r
@3 10rad/s
@ 10wrads
164. A copper rod of 88 cm and an aluminium rod of
unknown length have their increase in length
independent of increase in temperature. Thelength
of aluminium rod is : (g, =1.7X 10-5K~! and
04 =2.2X1075K~ 1)
(1) 6.8cm
2 113.9cm
(3) 88 em
4 68cm
165. An electron is accelerated through a potential
difference of 10,000 V. Its de Broglie wavelength
is, (nearly) : (m,=9x 10~ 31 kg)
1  122x10-12m
2 122x10"12py
B 122x10714m
4. 12.2nm
166. Which of the following acts as a cil*éuif"i::fﬁtectiun
device ? '
(1)  conductor
2) -inductor
3  switch
4  fuse

87

163.

164,

165.

1686.

Pé

10 §.91. 9@ 401 N9. 910 4gg e T

1 8. aviaie §8a anees (3hea)-eae-Gion aig
@260 AT 082 | ARaq Ta Goa A 918 8 RO
H8 ARIER 291 Ada Yalw 0.1 86T | 8 FI0 dag

o oyl a8 dRea §Q 9N RU96R /¥ c96e

C@ldiQ AGEREIsR Y21 U CIAR6e JRIas 9ga!

U6Q': '(gﬁliﬂ'mfsz)_

@ V10 .radfs
10

2) =— radf's

i 2T :

® 10radss

4 10 rad/s

AG CQISY ARG 63dY Fag ARAitan-ae aQ

88 e Ll o5 (90) 29a e codia 9F
PIIAIR ARAUER PR VERNIR, 6069 ARTRAM
800 chelY 6060 699 ?

(e =1.7x1075K-19e° 0y =2.2x 1073 K - 1)

() 6.8cm
(&) 113.9cm
3 88cm
4 68cm

9% 10,000V & 49 3040 09180 QIa) 19 SERQER
Q QRGO QLN 6662 IR B-6Q1AR1 (de Broglie)
G0 6944 AISIIF 660 ? (m, =9x 1051 kg)

(1) 12.2x10"18m
@ 122x10" 12y
@ 122x10 " 1m
@ 122nm

O6R BRI 698 RURRES TYER 9fide aaa

HILER QUL QRN P

(1) ofcleq

@ gedlae

® ge “
@ ae
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167. ‘Two parallel infinite line charges with linear
charge densities + A C/m and — A C/m are placed
at a distance of 2R in free space. What is the
electric field mid-way between the two line

charges?

(1) zero

@ Tf:: N/C
8 _m}; = NIC
@ %:D = NI

168. Two point charges A and B, having charges
+Q and —Q respectively, are placed at certain
distance apart and force acting between them is
F. If 25% charge of A is transfeirred to B, then

force between the charges becomes:

M F

@

®

@ 5

189. A hollow metal sphere of radius R is uniformly
charged. The electric field due to the sphere at a

distance r from the centre :

(1)  increases as r increases for r < R and for
r>R

(2) =zeroasrincreases forr <R, decreasesasr
increases for r > R

(3) zevro asrincreases for r <R, increases asr
increases forr> R

(4) decreases as r increases for r <R and for

r>R

38

187.

168.

169.

English+Odia

54 NGER 2R QRQIER AR GRE ZLIF AR AAIBE
6agiea QRIS QaF 6RWIR CIF AR oI
QARG TAGEH + A Cim 9&° — A C/m 6T | 49 6TeHQ
olf oRbe O rZ6a CHGYER 6UIE 6REE 689 7

O g
@ wf: N/C
® g e
@ %‘:ﬂ - NIC

QIGEr +Q @ —Q olIFUN gRd G9eIF A 6 B,
QREQ A8 QIR QUIQINE, Ie° EAAIRE AR
iR 62029l @@ F 266 | 9§ 25% 918 A 019
B q 2IRI20 SRIAI, 6969 6ARIRE FrIGA Ridiaien
£2RYS| AR :

1 F s
P 2 ISy
@ T
3 E?LF ST
®

4F
(4 3 (N2

GalITq QARNICIER FIFE T UGS CARGE QYIS
R 266 | M2I6 68001 r QReIER I8 651Re 6%y

Q8 B4R 698 :

(1) r QP 65 AN 6L60696R r < R 9e°
r>R.

2 g9 U6E 666696R r <R, dla r @A,
afiol 696606960 r> R 2R r 9@ &9

@)  gFY YT 6U6REIEH r <R, AR r QWaN,
Q@2 606069657 r >R dIQ v 9F 2l

(4 r oER Les Sf2Y 6766 66w r <R 9e°

r>R
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170. The work done to raise a mass m from the surface
* of the earth to a height h, which is equal to the
radius of the earth, is -

39

(1) mgR

@ 2mgR

€] % mgR
3

) P mgR

171. Aparallel plate capacitor of capacitance 20 uF is
being charged by a voltage source whose potential
is changing at the rate of 3 V/s.. The cohduction
current through the connecting wires, and the
displacement current through the plates of the

capacitor, would be, respectively :

(D zero; 60 pA
(2)  60pA, 60 pA
(3) 60 pA, zero
(4) ZEeTY0, ZeYo

172. Increasein temperature of a gasfilled in a container

would lead to: :
(I) increase inits mass
(2)  increase in its kinetic energy
(3)  decrease in its pressure
()  decrease in intermolecular distance

178.  When a block of mass M is suspended by = long
wire of length L, the length of the wire becomes

(L+2). The elastic potential energy stored in the

extended wireis:
D Mgl
2 MgL
3 = Mgl
(3) 5
4 L4 Mgl
2

Pé6

170. m 9gg 588 1@ 9gq 9fie1 9aq, 9aeR SYIQIE

171.

172

173.

(R) 490 Q919 2001g 2010916R 6056 A1l caln

2 ele .

(1) mgR

2 2mgR

® - meR
2 g

(4) g mgR

20 kF 100 QFY N8 Aee 6ge INER 9@
6910 G0 2ol a2 Afe AT FAULRI SIS
6IUER GO 3 Vis 9106e afieds 6298 | 606e
LGS Glace goIde 3949 6916 99° difga sg¢
FRIEQ gRIL0 JINES. 610 TEIRES 6R60 COe7

) 94, 60 pA
@ 60 pA, 60 pA
3 60 pA, gey
@ g, g

6GlIEN SNIY @8 AIGE SR IR 956

(1 N9 94y VN9

2) 9RIQ gdEe 98 afag

3 Neia 2Ig efarg

@) <2 2960e Qacl 2faNd

e M @@ g9l 99 9¢ | L a4 588 9 olesa
EMIRSa I2IQ 02 (L+ 1) 6RIQUIe | 606Q 9B 918
A6 ceadel 30909 «Fe 869 98 cate Zise 7

1)y Mgl
2 Mgl

1
(8) 5 Mgl
9 L MeL
&Y 5 g
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P6
174.

175.

176.

177.

In a double slit-experiment, when light of

wavelength 400 nm was used, the angular width

of the first minima formed on a screen placed 1 m
away, was found to be 0.2°. What will be the
angular width of the first minima, if the entire
experimental apparatus is immersed in water 2

{Bwater = 43)
(1) 0.266°
@  0.15°
3. 0.05°
@4 01

A soap bubble, having radius of 1 mm, is blown
from a detergent solution having a surface tension
of 2.5 % 10~ 2 N/m. The pressure inside the bubble
equals at a point Z, below the free surface of water
in a container. Taking g=10 m/s?
density of water = 102 kg/m3, the value of Zyis :

() 100cm
2 10cm
@3 lem
4 0bcm

A 800 turn coil of effective area 0.05 m? is kept
perpendicular to a magnetic field §X 10°5T.
When the plane of the coil is rotated by 90° around
any of its coplanar axis in 0.1 s, the emf induced
in the coil will be :

1 2V

@ 02V

(3) 2x1073V
(4 002V

A particle moving with velocity ? is acted by three
forces shown by the vector triangle PQR. The
velocity of the particle will :

P
/)
< =
R Q
(1) increase
(2)  decrease
(3) remain constant
. —
(49  change according to the smallest force QR

40

174.

175.

176.

177.

I English+Odia ]

5916 589 TRIRIER, SUEPERER Y@ 400 nm R
¢@dy 49 gl DIQRIQ IR, CUCPEER
1 fieq Qa0I6R 2@l aaGica A62aYR! gad el
sFde eael 0.2° 6aRl 1 UG dgd 9eTq CIFHEsR
Qola GelIale, 6e6e gar ARdIea 6RIde 99
6R60 689 ? ( @R JOAREIE p =4/3)

(1) 0.266°
2 0.15°
(8 0.05°
@4 0.1°

2.5% 102 N/m Q9616 (Ae6aq 66Q4R) a1 ¥
QYR AE6R 4@ 1 mm A FFR Q@ CTIOR!
caigRl | 6TIoR Goaa o9, 601t Frgd a1ge
AR Z, ANREIER. A1 @ FQER QAR S10QL
QAR | Zy & FIRY 6REQ 629 ?

(g=10 m/s?, 7@ QRS =103 kg/m?)

(I) 100cm
@) 10cm
(3) lem.
4 0.bcm

QR0 68eaa 0.05 m? alg, 800 e QeI AN
<% I8 QER1 § @ 5X 1075 T QARG 6RGER
A9QISEa QUISIDE | 08 €RIg Y218 6aswIad
Qo8 B8 SIRAsH 0.1 s 68 90° gRIKIN, §EMFR
Q4R 62RgQ! 6951 “iYQ Q180 SR SBiFIE 689 :

n 2V

2 02V

3) 2x1073%
@ 0.02V

Sosn edinIngel 6uga 899 (PQR) 2qIsa G6aId
eq, v UR6R66a QNS IR *8Ql ad6R geld
qoeIad | 66060 FIFER Af6ad :

P
/
R Q
D e@e
@ ofie
@) da q@e
@ §eo7 9% QR UeQsa cheer 629 |

T
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178.% Avérage velocity of a particle exécuting SHM in

179.

180.

()

@

s/one complete vibration is

(2 Aow
A?

2
Z2T0

In total internal reflection when the angle of
incidence is equal to the critical angle for the pair
of media in contact, what will be angle of
refraction ?

@® 180

2 o

(8>  equal to angle of incidence
90°

In an experiment, the percentage of error occurred
in the measurement of physical quantities A, B, C
and D are 1%, 2%, 3% and 4% respectively, Then
the maximum percentage of error in the

A2 B%
¢/t D3

measurement X, where X = , will be :

2 16%
@ —10%
@  10%

~-000-

41

P6

178. Q8Q AEAINR 618 (SHM)6R F509a91 N8 2dRIQ

179,

180.

QLI ORERE 66I1EN Ay 61T TER 6066 6997

Aw
@ 5
2 Ae

Aw?
@ =g
(4 o] Y

N9 URISRE GFTRT 696R U@ 2GR CRIGE
628 QRIS QRE IR 62099] AT 614 LA
@4, 6969 Jodad eRIEE0 (Rl 6860 609 ?

O 180
@ o

(3) didew eIl AR 68
@ 9

NG daigleq A, B, C 8 D 6169 qud q89
AIISRIEIER DUIREE deaet 1%, 2%, 3% a° 4%
S 9F QRIGR |

_ AZBA
¥ ps

FORG| EREQ AITR QF 629 ;

3
o (i)

9@ X

@ 16%
® —10%
@  10%

~0o0o-

T

24, 6669 X @ ANN6R AIRIS
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English+Odie:

Read carefully the following instructions:

39 9goRIg fIR 606 OQ

Tach candidate must show on demand his/
her Admiit Card to the Invigilator.

No candidate, without special permission
of the Superintendent or Invigilator, would
leave his’/her seat.

The candidates should not leave the
Examination Hall without handing over
their Answer Sheet to the Invigilator on
duty and sign the Aitendance Sheet twice.
Cases where a candidate has not signed
the Attendance Sheet second time will
he deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

Use of Electronic/Manual Calculator is
prohibited.

The candidates are governed by all Rules
and Regulations of the examination with
regard to their conduct in the Examination
Hall. All cases of unfair means will be dealt

with as per Rules and Regulations of this

examination.

No part of the Test Booklet and Answer
Qheet shall be detached under any
circumstances.

The candidates will write the Correct Test
Booklet Code as given in the Test Booklet/

Answer Sheet in the Attendance Sheet.

1.

PasHa 6a6R 0664 CansIel AABRERE AR F68
a6 €g 6aBIR6R |

QOGECEER A ARREERCaLt Geag Ag66 Gl
clad censieh Ga Qe 21861 666 g5F |

AEEcRGeR 886 98 @ 60a. AUAIR UgsR ¥
2la Q@ @8 6al6 gensigh aesl 2R 21§
ad6 g6d | AAA 0g6a §E16 28R J8a @ @@ 08
cSlad censieh IR 6660 6 aaQ Ag &%
aqd 6ladIag o edled gfge aidl @68 celR
daide |

sHed 63¢uba 9o al AlIAgsReae Jeald
S

Sensiiera a1a0Ie cersia 2g fes eqdisa agel
036 | GONR @ 2iI6 2160819 SI61SIA KA AT
86 ealde |

0 6868 0b6dbee @ 666 QAsHS 6 AAQ YLY
o

®
ARG 206! 21998, |

ol

6% GRERG/GAA ©g6a QT @flal 606 QRERT
sale @ OaNsieh aegle €gea d0R IAsa BRI |

sh

T
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